UGC NET 2021 Tourism Administration N MNGMNT

Topic:- 93Tourism_A

1) From the following, select the year in which Quit India Movement was launched.

HRd BI3I 3Hicictel fopaA ad 9 fdp srm?
[Question ID = 2196][Question Description = S2_qSNz_PG_TMA_QO01]

1885/1885 [Option ID = 8781]
1942/1942 [Option ID = 8782]
1935/1935 [Option ID = 8783]
1945/1945 [Option ID = 8784]

A w N =

Correct Answer :-

e 1885/1885 [Option ID = 8781]

2) Assuring the progressive use of the official language Hindi, the Ministry of Tourism, Government of India, runs a scheme
under which cash prizes and certificates are given to the best books originally written in Hindi on tourism. The scheme is

HRA IRPR BT Wicel AGICRI, AT 36 & yomedt IuRNsT o1 JHoIfa ool & o1 ud AlSel aelrdr 3 331 Alsiell @ dad WRicel UR el U A
ferxdl sRil 9o graml @ fo1e side YR 3R YHIUI-ud Yglol fobu SiId & 1 AlSIoll I ol 3-

[Question ID = 2197][Question Description = S2_qSNz_PG_TMA_Q02]

PRASHAD /gzi [Option ID = 8785]

RCS-UDAN/ 3 2ft wi-3s1a1 [Option ID = 8786]

Rahul Sankirtyayan Tourism Award Scheme/31ge1 AimrIRIel Wwico! YeeaR Alsen [Option ID = 8787]
Atulya Bharat Scheme (Hindi)/3rqea smea =isten (f&<1) [Option ID = 8788]

A W N -

Correct Answer :-
® PRASHAD/gziig [Option ID = 8785]

3) Utensils Museum is situated in

gclol FoJBICRI Dol 3erd 37

[Question ID = 2198][Question Description = S2_qSNz_PG_TMA_QO03]
1. Jaipur/srgz [Option ID = 8789]

2. Srinagar/gjepr [Option ID = 8790]

3. Ahmedabad/smeaemar [Option ID = 8791]

4. Patna/ucon [Option ID = 8792]

Correct Answer :-

e Jaipur/srigz [Option ID = 8789]

4) Pursuant to Budget Announcements of 2018-19, Ministry of Tourism, Government of India, has identified 17 iconic
tourist sites. Where is the iconic tourist site Dholavira located?

2018-19 &bl ssic AITUIsil @ 3M6[FRVI d HRA IIDR D WRicol AGIeR of 17 gz wRicor Fercil &l usarer bl 3 yga uicel Ferer eiierrdlar wat
rera 3?7

[Question ID = 2199][Question Description = S2_qSNz_PG_TMA_Q04]

Rajasthan/zmrenst [Option ID = 8793]
Gujarat/sri [Option ID = 8794]
Punjab/dsma [Option ID = 8795]

Uttar Pradesh/3= ggear [Option ID = 8796]

A WN -

Correct Answer :-

® Rajasthan/zmremer [Option ID = 8793]

5) Fort Tourism is gaining popularity day by day. To promote tourism activities Mehrangarh Fort keeps on organising various
events. This fort is located in

gol-wricat (W1 ¢hwan) ot gfer f3o1 clinitRrar s1i¥ter @2 61 & Asore1G foball, WRico! @I drar 3ot @ fore ¢ dRe @ IIRIlSlel ddl 3 As e
Rrera 3-

[Question ID = 2200][Question Description = S2_qSNz_PG_TMA_QO05]



Jaipur/srigz [Option ID = 8797]
Jodhpur/shergz [Option ID = 8798]
Jaisalmer/Sizieir [Option ID = 8799]
Bikaner/dfi@rorz [Option ID = 8800]

A W N -

Correct Answer :-

e Jaipur/srigz [Option ID = 8797]

6) What is the three-letter code of the airport Ezeiza Ministro Pistarini in Buenos Aires?
I ARRE Rea ufSren Bifor<) firaf¥shl saré 3rg3 @1 oot s1g1R @1 BIs @R 37

[Question ID = 2201][Question Description = S2_qSNz_PG_TMA_Q06]

1. BZE/BZE [Option ID = 8801]
2. EZE/EZE [Option ID = 8802]
3. BUE/BUE [Option ID = 8803]
4. BOG/BOG [Option ID = 8804]

Correct Answer :-

e BZE/BZE [Option ID = 8801]

7) Famous Taj-ul-Masjid is located in

gf¥rg dmer-3c-aiksic e 3-

[Question ID = 2202][Question Description = S2_qSNz_PG_TMA_QO07]

1. Bhopal/siuret 3 [Option ID = 8805]

2. Agra/asmrrt 3 [Option ID = 8806]

3. New Delhi/ss feeett 3 [Option ID = 8807]
4. Hyderabad/ggzmars 3 [Option ID = 8808]

Correct Answer :-
e Bhopal/siuret 3 [Option ID = 8805]

8) Saang and Daph dance are associated with which state of India?
JidT 3R 6 ofcd MR D b s 3 Adfea 37
[Question ID = 2203][Question Description = S2_qSNz_PG_TMA_Q08]

1. Haryana/sf=mn [Option ID = 8809]

2. Rajasthan/zmrzemer [Option ID = 8810]

3. Maharashtra/aermsg [Option ID = 8811]

4. Andhra Pradesh/siigf yger [Option ID = 8812]

Correct Answer :-

e Haryana/sf¥mn [Option ID = 8809]

9) In 1565 AD, Agra Fort was built by
1565 €. 3 3eRI @I fbcn f[BAD FRT JoldRI SR en?

[Question ID = 2204][Question Description = S2_qSNz_PG_TMA_Q09]
Akbar/smpaz [Option ID = 8813]

Jehangir/s@ishiz [Option ID = 8814]

Shahjahan/ermssiet [Option ID = 8815]

Humayun/garf [Option ID = 8816]

A w N =

Correct Answer :-

e Akbar/smmsz [Option ID = 8813]

10) The National Council of Applied Economic Research (NCAER) has framed Tourism Satellite Account (TSA) for the
Ministry of Tourism, Govt. of India, New Delhi. According to the 374 TSA, the estimates of direct employment generated in
the economy due to tourism in the year 2018-19 is

SY9reTel BRI 3P Utelss sdllifdias R (vat Al v § 31R) of uricar JiquerI, MRA IRDR, oiv echl B ferw cfisa Iearse spEe (& v v)
DI TP B AMIR [ 8 iR & v U @ 3ol @ JAidd refcaazar 3, ad 2018-19 @ dierel, f[bdol yferora Yl ASPIR BT IJsiol 3117

[Question ID = 2205][Question Description = S2_qSNz_PG_TMA_Q10]

1. 12.13%/12.13% [Option ID = 8817]
2. 7.19%/7.19% [Option ID = 8818]
3. 5.56%/5.56% [Option ID = 8819]
4. 4.96%/4.96% [Option ID = 8820]

Correct Answer :-
® 12.13%/12.13% [Option ID = 8817]

11) The remains of Hampi and Vijaynagara UNESCO world heritage sites are located on the banks of the river



3l 3l fRGPR, Yol fra RRRIA Ferd, 5 oIl & ac u? Rea 37
[Question ID = 2206][Question Description = S2_qSNz_PG_TMA_Q11]

. Jamuna/zgon [Option ID = 8821]

. Krishna/gwm [Option ID = 8822]

. Jhelum/2remw [Option ID = 8823]

. Tungabhadra/gsrerct [Option ID = 8824]

A W N -

Correct Answer :-

® Jamuna/zgon [Option ID = 8821]

12) Ministry of Tourism, organised a major event '‘Bharat-Parv' at the Red Fort Lawns to coincide with the Republic Day
celebrations from Jan 26 to Jan 31, 2019. The theme of this '‘Bharat-Parv' was dedicated to

wRical e of, cfel fibel @ diglol 3 26 Storast A 31 Seradl, 2019 @ SRie Svide a1 JARIE @ ATA & ATA 'HRA Ud' olldd TP a1
SIRITSTol fepaIT e 18 3IRINSTol b3t et faerRr w1 FraAftia er?

[Question ID = 2207][Question Description = S2_qSNz_PG_TMA_Q12]

. Mahatma Gandhi/smsican siieft [Option ID = 8825]

. Sardar Vallabh Bhai Patel/3=er aceror a1rs ueer [Option ID = 8826]
. Dr. B. R. Ambedkar/3i. €t ame sidsaz [Option ID = 8827]

. Swami Vivekananda/zawft fdw®rsic [Option ID = 8828]

A w N =

Correct Answer :-
e Mahatma Gandhi/ssren stieft [Option ID = 8825]

13) In Mizoram State, the following dance is known for its performing art

fsizar ggor 3, forerferRaa 3t I dlet AT gfca 3ruehl Ygofer wen @ fore Sirer st 37
[Question ID = 2208][Question Description = S2_qSNz_PG_TMA_Q13]

Reehungma/3igsen [Option ID = 8829]
Cheraw/fRI [Option ID = 8830]
Rengma/3swm [Option ID = 8831]
Ghummar/ggz [Option ID = 8832]

A W N -

Correct Answer :-
e Reehungma/3igsen [Option ID = 8829]

14) What is the maximum extent of IATA Traffic Conference Area-2?
3r$ v & © b o aeh¥r -2 & siferasdaer e o= 3?7
[Question ID = 2209][Question Description = S2_qSNz_PG_TMA_Q14]

1. lIceland (Russia), islands adjacent to middle east, Europe/smsacis (%21), #iear yd @ forpead! diu, Ru [Option ID = 8833]

2. Europe (including Iceland, Russia to the west of ural mountains), islands adjacent to Europe, the Azores Canary islands, the middle east (including
Iran), Africa and adjacent islands/zRIu (3Rrct uda @ uf2ee 3 337 D 3sActs ARA), PR D fordead! diu, volear Dot du g, #e=r gd (et Afdd), Jwpipr iz
forepeardt gha [Option ID = 8834]

3. Africa (including Iceland, Russia to the west of the Kilimanjaro), islands adjacent to Europe, the middle east (including Iran), Africa/smgier (fepferismy
@ Ut 3 A D 3MSACS Afd), R D forpead! iu, e gd ($2er Afda), it [Option ID = 8835]

4. Middle East (including Iceland, Russia to the east of the Meru mountains), islands adjacent to Africa/ai=r qd (3 uda @ yd 3 3 & sis=Acts ),
3wieet @ forpeardt gia [Option ID = 8836]

Correct Answer :-

e |celand (Russia), islands adjacent to middle east, Europe/sns2icts (1), @iz yd @ foread! ¢iu, 2R [Option ID = 8833]

15) What is the reason of a 22-hour GMT time difference between the Fiji Islands and Hawaii in the Pacific Ocean since
there is not much geographical distance between the locations?

gorid #8RIPR d fbsfl flu siiz saré Fu @ dla sieaét e d 22 €@ @ 3id? I 9= BRI 8 SHid 6l loll Feurell @ dia sionferd ¢il sifero
ordl 87
[Question ID = 2210][Question Description = S2_qSNz_PG_TMA_Q15]

1. Location of Fiji and Hawaii is in archipelago/fsit siiz zars &bt Refer gluemg 3 & [Option ID = 8837]

2. Fijiis located at the eastern extreme of the time zone (GMT+12)/fbsft, ersat sitor &bt ydf awar Mo (sfiearct + 12) w2 Berr & [Option ID = 8838]

3. The international date line is extended from the Eastern Hemisphere to the Western Hemisphere and from the Northern Hemisphere to the
Southern Hemisphere/siaefscir feifér 32ar, ydf sitemef 3t uftpeft siemef ao sz 33t sitemet 3 afgmft siemed aw st 2 [Option ID = 8839]

4. Hawaii is located in western hemisphere (GMT-8)/zars, uf2sefl sieme (Sfwsct - 8) 3 Berw & [Option ID = 8840]

Correct Answer :-
e |ocation of Fiji and Hawaii is in archipelago/fisft siiz sars &t RBerfer dumgg 3 2 [Option ID = 8837]

16) What is NOT the type of cruise as per the UNWTO's (2012) identification of four different types of cruise?



forgsiferRae 31 3 @3, ST®I PBlel AT YPR Y Tol 3oy & 3l (2012) & ar fAf¥col YR @ @ 51bl usdiel @ IR ofdl 37

[Question ID = 2211][Question Description = S2_qSNz_PG_TMA_Q16]
Luxury/cesist [Option ID = 8841]

Premium/difdrmer [Option ID = 8842]

Classic/aenf3m [Option ID = 8843]

Budget/ssic [Option ID = 8844]

A WN -

Correct Answer :-

® Luxury/cwsst [Option ID = 8841]

17) What is the name of cruise liner which introduced the cruise industry's first ship built for warm-weather cruising?
3A G IACISoR DI ol T 3 rRTor a1 dilar 3 JS) A1y D fere forfdfa o sr3ensT @1 usan sterst 93 fapan?

[Question ID = 2212][Question Description = S2_qSNz_PG_TMA_Q17]
Carnival Cruise Line/rfs{aer @ystemset [Option ID = 8845]

Prinzessin Victoria Luise /{3 faaeif¥=m g2t [Option ID = 8846]

Cunard's Queen Elizabeth 2/wons' adier ufersier 2 [Option ID = 8847]

Royal Caribbean International/3fRict d3ferror scoigreiet [Option ID = 8848]

A W N -

Correct Answer :-
e Carnival Cruise Line/aifofdct @ siemset [Option ID = 8845]

18) Which is NOT primarily the priority of tour operators to keep the prices of package tours low?
23 el & Aol ¢ Uddsl bl DHldIcd D ol d BlorRfl grafdrasar Fz o8l Bt 37

[Question ID = 2213][Question Description = S2_qSNz_PG_TMA_Q18]
Rationalisation of competitive prices/yferutricaa Bl @1 aaisia alen [Option ID = 8849]
Negotiation for low prices with suppliers/smgfefarat 31 wa bisra @ fere dler-diet [Option ID = 8850]
Reduction of profit margin/gjemsr afst 3 wcidt [Option ID = 8851]

Cutting cost structure /e @elidt aren aiar [Option ID = 8852]

A w N =

Correct Answer :-

e Rationalisation of competitive prices/yferusicaa Hlerdl a1 awer alen [Option ID = 8849]

19) The first free independent traveller package tour for VIPs was introduced by
farforse cafepeil @ fére usen for:9lcw Fadq uRicsr Udst b CRI 9% fdp= sRIT ar?

[Question ID = 2214][Question Description = S2_qSNz_PG_TMA_Q19]
1. Sir Rowland Hill/z= 3I¢ts f&et [Option ID = 8853]

2. Thomas Bennett/sifar1 daic [Option ID = 8854]

3. Thomas Cook/ st g [Option ID = 8855]

4. Robert Smart/3fad 3anc [Option ID = 8856]

Correct Answer :-

® Sir Rowland Hill/3r Jcts f&et [Option ID = 8853]

20) What is the popular type of holiday that provides opportunities to a small group of friends or families to sail around the
Mediterranean, Caribbean or Greek Islands?

il oI a6 iU Udsl, Sl SRl @ U BI A WIS AT URAR Bl YJET APR, DAURIE AT e LUl & ari R GlPRIE DI 1R Yglol
I -

[Question ID = 2215][Question Description = S2_qSNz_PG_TMA_Q20]

Gondola ride/slisten ass [Option ID = 8857]

Seafarer sailing/ftierz Afeler [Option ID = 8858]

Flotilla sailing/uefeen Afeisr [Option ID = 8859]
de loisir holidaying/<t carrr alfersRisr [Option ID = 8860]

A W N -

Correct Answer :-
e Gondola ride/siislen wss [Option ID = 8857]

21) A staycation refers to
ICDIIGT DI MR 8 -

[Question ID = 2216][Question Description = S2_qSNz_PG_TMA_Q21]

1. a period during which a person with his/her family undertakes a short vacation trip in the neighbourhood countries. /as srafer fort Giater @I$ ife 3ot
uf¥ar & el fapeit usiet Sor 6t BIct-2it @y w2ar & [Option ID = 8861]

2. a break from routine life to spend holiday with friends and relatives at beach or mountain. /3w &t fotecsft 3 forber @2 PG = uf¥ar & mer fpft uars an
WS} e w2 fdarft swer arcfl g [Option ID = 8862]

3. a holiday opportunity to avail during vacation for which the services are provided by professional travel agents./gR=Ii @ cl2re1 sramrar &I as smafr BRI
fere A9aR ¢act woict grI Aam Ygetel 6t Siedt & [Option ID = 8863]

4. a period in which an individual or family stays and relaxes at home, possibly taking dry trips to areas of attraction./as smafér SrwEi @15 Ifes a1 ufsar
gft=il 31, @ W &, 3mw o a1, dia 3t fipeft sraptiur Feret sRM, cifdpel et altst-arcdl fbe amw e smen [Option ID = 8864]

Correct Answer :-



® a period during which a person with his/her family undertakes a short vacation trip in the neighbourhood countries. /as smafél 3Rt Giarer @IS RIfep 3ot
ufsar & el it ushlt Sor 6t BIct-21t @y w2ar & [Option ID = 8861]

22) The acronym TALC stands for
TALC fororfeiRaa 3 1 foprop1 2fdnT omer 3?7

[Question ID = 2217][Question Description = S2_qSNz_PG_TMA_Q22]
. Tourism Area Living Cycle/<fsa uli¥en feifdsr asaer [Option ID = 8865]

. Tourism Area Life Cycle/¢f¥sa ufien csw msaet [Option ID = 8866]

. Tourism Amenities Life Cycle/gRsa wiifordtsr emsw msaer [Option ID = 8867]

. Trade Area Life Cycle/¢s ufin asw 3msaet [Option ID = 8868]

A WN -

Correct Answer :-
e Tourism Area Living Cycle/gfssar ofsar ferfdfer amsaer [Option ID = 8865]

23) "The Only Way to Fly" is the advertising slogan tagline of which airlines?

'S sieretl d ¢ werrd' forfdciRaa 31 A1 v e wusht & farsiuet 1 oI =1 Soretrsol 3 ?

[Question ID = 2218][Question Description = S2_qSNz_PG_TMA_Q23]
1. Turkish Airlines/eftder wremssat [Option ID = 8869]

2. Western Airlines/d3cof wRremssn [Option ID = 8870]

3. Singapore Airlines/Rpmyz wremss [Option ID = 8871]

4. Lufthansa/guer= [Option ID = 8872]

Correct Answer :-
® Turkish Airlines/efdser weremsstr [Option ID = 8869]

24) What does DMO stand for?
DMO foifdeilRae 3 3 a=m 37

[Question ID = 2219][Question Description = S2_qSNz_PG_TMA_Q24]
Demand Marketing Organization/fSaiis sirdSfest smsfosaierer [Option ID = 8873]
Destination Management Organization/3Reolorel dotstdic siekissiort [Option ID = 8874]
Demand Management Organization/f33is dotswic sisfenssieet [Option ID = 8875]
Destination Marketing Organization/3Rcalorel adsiesr smsfomsaierst [Option ID = 8876]

A w N =

Correct Answer :-
o Demand Marketing Organization/fsis ardsfesr smfonsatorst [Option ID = 8873]

25) Exploration, involvement, development, consolidation and stagnation are the stages of
31cdHUI, 3MIdtcol, fadRI, AADH 3z Rerdiazor @D TT 3

[Question ID = 2220][Question Description = S2_qSNz_PG_TMA_Q25]

Doxey's Irridex (1975)/<ia=lst stesa=t (1975) [Option ID = 8877]

Bryan's Leisure Experience Continuum (1977)/qriz1 cfiore vaerdif¥sar adewt (1977) [Option ID = 8878]
Butler's Tourist Area Life Cycle (1980)/scert ¢f3zc ofin csw asaa (1980) [Option ID = 8879]

Plog's Psychographic Continuum (1991)/wiis21 ss@epfse wctont (1991) [Option ID = 8880]

A W N -

Correct Answer :-
e Doxey's Irridex (1975)/Sia=its sisa=t (1975) [Option ID = 8877]

26) PASLOP method of tourism planning was developed by
uRicol foRIISIol @I URIciu Aers fbad gri famlRa e sk ?

[Questlon ID = 2221][Question Description = S2_qSNz_PG_TMA_Q26]
Lawson and Baud-Bovy/cifet 6s azs didt [Option ID = 8881]

Butler/seerz [Option ID = 8882]

Russel and Faulkner /331 6s wicwerz [Option ID = 8883]

Fennell/water [Option ID = 8884]

AWN—\

Correct Answer :-
e |awson and Baud-Bovy/cifet s @iss dldl [Option ID = 8881]

27) The theme for Indian Pavilion in ITB, Berlin held from 6t" to 10t March, 2019 was

6 3 10 a1t 2019 3 afefor 3 RN 3$ & 1 3, el sy @1 ofia en-
[Question ID = 2222][Question Description = S2_qSNz_PG_TMA_Q27]

Indian Dance and Music/ sl oper siiz 2isfia [Option ID = 8885]

Indian Art and Heritage/siciter aerr sfie fazria [Option ID = 8886]

Indian Festivals/ sl =iler [Option ID = 8887]

Greatness of Indian Rural Tourism/siefier spefior weicer &t fagmam [Option ID = 8888]

A W N -

Correct Answer :-



e [ndian Dance and Music/ stz oje=r 3ii sfiea [Option ID = 8885]

28) Name the international organisation that has established the Green Globe 21?

3fioT acila-21 &1 Femuoll @0l ardl ARSI TGl DI oIl &-

[Question ID = 2223][Question Description = S2_qSNz_PG_TMA_Q28]

World Travel and Tourism Council/acs Saet vs ¢f¥sa ai3fere [Option ID = 8889]

United Nations World Tourism Organisation/3Jsises al9Rt acs ¢¥se smpomssiont [Option ID = 8890]
United Nations Development Programme/3gises ool Saciudic gepei [Option ID = 8891]

Pacific Asia Travel Association/dRfa efsrr Saet srilReorer [Option ID = 8892]

A wWw N -

Correct Answer :-
e World Travel and Tourism Council/acs Sact s ¢f¥sar ®isfearct [Option ID = 8889]

29) What is the memorable aphorism of John Naisbitt (1994)?
Sifol olafde &t AR Yfep (1994 ) a=m 8?7
[Question ID = 2224][Question Description = S2_qSNz_PG_TMA_Q29]

Think local, act global/Ri® eliet, wae seilaet [Option ID = 8893]
Green world/sftet acs [Option ID = 8894]

Tragedy of the commons/<aIst siiw ¢ @isit [Option ID = 8895]
Sustained yield/3=¢s #fics [Option ID = 8896]

A W N -

Correct Answer :-
e Think local, act global/few eliwet, vae sciiget [Option ID = 8893]

30) Which of the following properties of correlation coefficient is NOT true?
JBAEg IUIicd i frdiuear @& ar 3 Dlol-AT DA Sl oldl 37
[Question ID = 2225][Question Description = S2_qSNz_PG_TMA_Q30]

Pearsonian Correlation Coefficient can not exceed 1 numerically. /uiiforIor J&idg Iulicd ARRID 7T A vd A FWIGl olal Adar [Option ID = 8897]
Correlation coefficient is independent of the change of the origin and scale. /31&3idg sjuricd 3cufer 3ik oMU D dgerd A ¥addq alar 3 [Option ID = 8898]
Two independent variables are uncorrelated but converse is not ture. /gl ¥adq a2 sRIEIAg 3, W $ADI 3ccl A ofdl & [Option ID = 8899]

Two independent variables are uncorrelated but converse is ture./gal ¥adq @ 3RI&idg 3, 3R s3I 3cet oft A= 3 [Option ID = 8900]

A WN -

Correct Answer :-
e Pearsonian Correlation Coefficient can not exceed 1 numerically. /u3iiforIer J3iag FPTic ARRID FU A vb A F=Iel ot Aba [Option ID = 8897]

31) Which of the following is NOT an assumption in Analysis of Variance?
RI D fraduur # forgafciRaa 3 A dla ve e ol 87
[Question ID = 2226][Question Description = S2_qSNz_PG_TMA_Q31]

1. In mixed-effects model of Analysis of Variance, some treatments are considered fixed and others random. /a3l @& feadwur & Bifgfa gora sifse 3 @&
siférfpemms forfar amoft Sl 8 sfie @ wmefts [Option ID = 8901]

2. The error term is normally distributed with a zero mean and a constant variance. /3mIee1 diz W gfe e @1 AT 9[ow Aol 3l v 3o YRRr & Arl Bldr
2 [Option ID = 8902]

3. The data can be transferred to satisfy the assumption of normality. /mieIcr @ 3if3eJEuT P Adgee D! D fere 3fids] @l Fuidld b s 3war & [Option ID =
8903]

4. The error terms are correlated./qfe @ us J&idag a1 & [Option ID = 8904]

Correct Answer :-

e |n mixed-effects model of Analysis of Variance, some treatments are considered fixed and others random. /a3i @ fecdwor @ ifsfa Yerra sifser 3 s
aifdifepeme forfia el Sieft & 3l s aeftses [Option ID = 8901]

32) For a given set of values Mean=20, Median=24 and Mode=26. The given distribution is:

Jreqaret = 20, aferer = 24 a1 sgoad = 26 D IcA arcl e s1e Ae oI faarvr den-

[Questlon ID = 2227][Question Description = S2_qSNz_PG_TMA_Q32]
Left-skewed /a1 gjara [Option ID = 8905]

Right-skewed/sfémr giera / famet gjara [Option ID = 8906]

Symmetric/3m@ifda [Option ID = 8907]

Asymmetric/srmifda [Option ID = 8908]

AWN—\

Correct Answer :-

o |eft-skewed/amt gara [Option ID = 8905]

33) In organisations, attitudes are important for which of their following components?
Jioroall 3, foraifeRaa & A ®ler AT acd FAscaygul alar 3?7

[Question ID = 2228][Question Description = S2_qSNz_PG_TMA_Q33]



Affective/garrdt [Option ID = 8909]
Prescriptive/sucence [Option ID = 8910]
Behavioral/=masrer [Option ID = 8911]
Cognitive /st [Option ID = 8912]

A W N -

Correct Answer :-

o Affective/gairdt [Option ID = 8909]

34) Expectancy theory of motivation predicts that employees will exert a high level of effort if they perceive a strong
relationship between and .

URUT oI YoM RIgid As Aol dcidl & fob pefardt el daar GRIRT @39l AfS d 3ol 3R @ dla Aee AdE AlGID Actd
3

[Question ID = 2229][Question Description = S2_qSNz_PG_TMA_Q34]

effort, performance /e, @rifsrurger [Option ID = 8913]
performance, equity/®riforurger, forsugiar [Option ID = 8914]
effort, equity/gemi, forsugtar [Option ID = 8915]

equity, perception/forugtr, smemun [Option ID = 8916]

A W N -

Correct Answer :-
e effort, performance/ym, @rifsruiger [Option ID = 8913]

35) Which of the following is true about MM's propositions?
Il U I gremuetisii @ Ader 3 foroiferlRaa 3 2 Dot él 37
[Question ID = 2230][Question Description = S2_qSNz_PG_TMA_Q35]

1. MM's propositions assume perfect financial markets, with no distorting taxes or other imperfections. /s wat &t yzemuens o bt 8fic @2 s1er@r sie=r
srgufarsii aret scof il aremt &t amun 3xadt & [Option ID = 8917]

2. MM's propositions assume that increased borrowing does not affect the interest rate on the ferries debt. /s war &bl yzenuons s it 3 fb 3ifeid a2 clot
3 DUt B U D RS 52 W Yo1d oidt usar & [Option ID = 8918]

3. Borrowing does not increase financial risk and the cost of equity, if there is no risk of bankruptcy. /& fgaifernuer w1 Sif3as of a1 ar en A ferefler Sfas
3z sferact aer ol et 8 [Option ID = 8919]

4. Borrowing increases firm value if there is a clientele of investors with a reason to prefer debt./3urR 3 ®usft @1 7ca dedr 3 Al fBrAD 36U b2 3 DU
31 forder w20l @ fée acr 8t [Option ID = 8920]

Correct Answer :-

® MM's propositions assume perfect financial markets, with no distorting taxes or other imperfections. /ws st &t yzenuemd o fopfl 8fica @2 srerar sieer
sryuiamsii arel sncef ferdlr aeml &t arun 2acdi & [Option ID = 8917]

36) All of the following are correct equations, except

forgoifeiRaa & A A Sisd2 3o st AMiavor T 3?7

[Question ID = 2231][Question Description = S2_qSNz_PG_TMA_Q36]

Value of equity = Value of firm - Value of debt outstanding/sfdract @1 acr = dusit @1 11 - 56u1 / aprn e [Option ID = 8921]

Value of share = Value of equity + Number of shares outstanding/9rR @i =1 = sferact o1 c=1 + gorn 9RRI &I A= [Option ID = 8922]

Net working capital = Current assets - Current liabilities/foraet oriofter §sft = fiemmet suf¥aer - fdeEmer Suams [Option ID = 8923]

Common stockholder's equity = Assets - Liabilities + Preferred Shares/iser SRReR® sfract = suf¥ari - Suram + siféenfera 3¢t [Option ID = 8924]

A W N -

Correct Answer :-
e Value of equity = Value of firm - Value of debt outstanding/sfiac @t ac=1 = @usit @1 =1 - 6ur / goprn e [Option ID = 8921]

37) In a hotel food production department, Chef Entremettier is a term used for:

Bl @ FIEI Iculgol fasieT 3 'A% g’ 9rec o SuRNeI fbad fere fapen Ssirar 27
[Question ID = 2232][Question Description = S2_qSNz_PG_TMA_Q37]

Relief Cook/f¥cfis qgas [Option ID = 8925]
Sweets Cook/¥dicat g [Option ID = 8926]
Vegetable Cook/afsteser @@ [Option ID = 8927]
Breakfast Cook/g@wrze @ga [Option ID = 8928]

A W N -

Correct Answer :-
o Relief Cook/Reflw g [Option ID = 8925]
38) is used to measure and compare the performance of two or more hotels. It is calculated by multiplying the
average daily rate with the occupancy percentage.

DI IUIIRT I A X 3 3if2re dlecil & PrRIifsrsurgst @1 ATUH 3R defoll B0l D fére fop=n Sirar 3 s2rchl STl v 3cfl 3¢ 3
SifeRURN RIS T PN B bt Sl 3

[Question ID = 2233][Question Description = S2_qSNz_PG_TMA_Q38]



Rev Par/3a ur [Option ID = 8929]

Occupancy Ratio/ sifergiizft 3dmit [Option ID = 8930]

Average Daily Rate (ADR)/wa¥st 3cft 3¢ (v St 3R ) [Option ID = 8931]
Average Room Rate Per Guest/wa¥st %1 3¢ yfer size [Option ID = 8932]

A WN -

Correct Answer :-
® Rev Par/3a ur [Option ID = 8929]

39) The primitive lodging houses or inns originated essentially to cater to the needs of the travellers. All over the world
they were known by different names. In Japan, they were called as

yeiiel ret 3 ARl DI SRecAl DI G Dol D feTu ARt 3J6l 31k FRRIT @I foraivr fioar sk fira @ fAafdieot eIl 3 368 31cTeT 3ITT9T olfdl A SIloll
SIIAT o1 STTel 3 368 GRIT W3l STl 21?7

[Question ID = 2234][Question Description = S2_qSNz_PG_TMA_Q39]

1. Paradors/%rski [Option ID = 8933]
2. Pousadas/diarc [Option ID = 8934]
3. Phatnals/wcairer [Option ID = 8935]
4. Ryokans/f=liwi [Option ID = 8936]

Correct Answer :-
e Paradors/dski [Option ID = 8933]

40) The leading Indian Origin Hotel 'The Taj Mahal’', Mumbai opened its doors for the world to offer Indian Hospitality &
Immoculate Services on:

HRARI 3T D Jag Reara sppofl Siea ' arst ser’ of el sifere sz Seapse I Yglol @ol @ foru gforn @ foru srust grR wa Fe?
[Question ID = 2235][Question Description = S2_qSNz_PG_TMA_Q40]

1. 215t June, 1902/21 st 1902 [Option ID = 8937]
2. 16th December, 1902/16 fiaz 1902 [Option ID = 8938]
3. 16th December, 1903/16 fiaz 1903 [Option ID = 8939]
4. 215t June, 1903/21 5ot 1903 [Option ID = 8940]

Correct Answer :-
e 215t June, 1902/21 set 1902 [Option ID = 8937]

41) Given below are the names of the lakes and their locations. Choose the correct combination.
A. Pulicat Lake - Andhra Pradesh

B. Chandubi Lake - Bihar
C. Hussain Sagar - Telangana
D. Agara Lake - Uttar Padesh

Choose the correct answer from the options given below:

ofiar sficT 3iie 3D FeIrel oI oldl f&=m s 3 -

A. gefioe sfia - siig] ygor
B. dicd sfiet - faBR
C. 361 APR - Acivlell
D. sieRrr i - 3= ggor
offa fou s1u fyeseul 3 2 & 3a= goi ¢
[Question ID = 2236][Question Description = S2_qSNz_PG_TMA_Q41]
1. Aand Conly/
dact A siiz C
[Option ID = 8941]
2. Aand B only/dact A siiz B [Option ID = 8942]

3. B and D only/daet B siiz D [Option ID = 8943]
4. Cand D only/@aect C siiz D [Option ID = 8944]

Correct Answer :-

e AandConly/
@act A siiz C
[Option ID = 8941]

42) Which are the economic determinants of tourism demand amongst the following?
A. Physical distance

B. Disposable income



C. Cognitive distance
D. Amount of leisure time

Choose the correct answer from the options given below:

forgotferRaa 3 3 et A wRica e & nfeias forerfzas 37

A. siifers g8t

B. giIsw 3mRr

C. Jsieca® it

D. wia @ wwr & agqr

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 2237][Question Description = S2_qSNz_PG_TMA_Q42]

1. Aand B only/

@ac A st B

[Option ID = 8945]
2. B and C only/dae B siiz C [Option ID = 8946]
C and D only/@aet C siiz D [Option ID = 8947]
4. Aand D only/a@act A siiz D [Option ID = 8948]

w

Correct Answer :-

e Aand B only/
Dact A iz B
[Option ID = 8945]

43) Which of the following is/are associated with bed making in hotel guest room?
A. Mitring

B. Bidet
C. Foot Fold
D. Credenza
E. WHB

Choose the correct answer from the options given below:

forgaiferRaa 3 3 o= lect dlc 3w I AR oMol A JHdfdra 3?7

A. ffefer

B. fa3c

C. B¢ BIcs

D. &3sm

E. socyg wa &t

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 2238][Question Description = S2_qSNz_PG_TMA_Q43]

1. Aand Conly/

@act A siiz C

[Option ID = 8949]
2. Aand D only/daer A siiz D [Option ID = 8950]
3. Band C only/daet B siiz C [Option ID = 8951]
4. D and E only/a@ae D siiz E [Option ID = 8952]

Correct Answer :-

e AandConly/
@act A siiz C
[Option ID = 8949]

44) Which of the following is/are the examples of Pasta?
A. Caviar

B. Broccoli
C. Ravioli
D. Canape

E. Cannelloni



Choose the correct answer from the options given below:

forgotferfRad 3 A BloRl URAT B IGERUI 37

A. DRRIR

B. iamicit

C. fairedt

D. @omu

E. Joolcilolt

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 2239][Question Description = S2_qSNz_PG_TMA_Q44]

1. Aand Conly/

dact A siiz C

[Option ID = 8953]
2. Band E only/a@ae B siiz E [Option ID = 8954]
3. Cand D only/a@aet C 3iiz D [Option ID = 8955]
4. Cand E only/a@ae C iz E [Option ID = 8956]

Correct Answer :-

e Aand Conly/
Dact A siiz C
[Option ID = 8953]

45) Continental breakfast includes:
A. Breakfast rolls/ toast/ bread

B. Butter/ Preserves [Jam, Marmalade, Honey]
C. Breakfast cereals/ fruits/ fish
D. Coffee/ tea

Choose the correct answer from the options given below:

Difocoical b 3 onfire -

A. Yoo Aca / A / 3

B. sez / Yurda [ Sia, aieicrs, 9163 ]

C. JowR< ¥ / wa / asch

D. @it / arr

il fou s1u fyapeul 3 21 & 3= goi ¢

[Question ID = 2240][Question Description = S2_qSNz_PG_TMA_Q45]

1. A, Band D only/

@act A, B 3z D

[Option ID = 8957]
2. B, C and D only/daer B, C iz D [Option ID = 8958]
3. A, Cand D only/aaet A, C aiiz D [Option ID = 8959]
4. A, B and C only/daa A, B siiz C [Option ID = 8960]

Correct Answer :-

e A,/ BandDonly/
@act A, B 3z D
[Option ID = 8957]

46) Which of the following dimensions are known as "upstream determinants” as per "Building Blocks Model" developed by
Fitzgerald and Moon (1996)?
A. Quality of service

B. Resource utilization
C. Competitiveness
D. Financial performance

Choose the correct answer from the options given below:

ficsiercs Us Ja orI el 'fafcsst sciiaa sifsa’ (1996) @ oRIR forwoiferRad 3 21 fipot M3l @1 Jedgxdl foreizd (3rRdla Sefifoloc) @&



U 3 SIrel S 8?7

A. a1 &I spuraan

B. Jiieret SuRIBT

C. yferuerfcaman

D. Rril forsurcet

il fou s1e fyaseul 9 3 W& 3a= goi ¢

[Question ID = 2241][Question Description = S2_qSNz_PG_TMA_Q46]

1. Aand B only/

@ac A sz B

[Option ID = 8961]
2. Cand D only/aae C siiz D [Option ID = 8962]
3. B and C only/dae B siiz C [Option ID = 8963]
4. Aand D only/dact A siiz D [Option ID = 8964]

Correct Answer :-

e Aand B only/
et A 3k B
[Option ID = 8961]

47) Identify the statements which are NOT correct.
A. "Moment of truth” is referred as a point when you make a mistake in planning your client's heirarchy.
B. Counter-staff at travel agencies are called gate-keepers because they can influence the choice of destination.

C. Setting up an internet website for your travel agency means that you can look for business in different parts of the
world.

D. When they walk into travel agencies, customers expect to be confronted by the sales staff.

Choose the correct answer from the options given below:

3ol Dol bl usdret bifse St At 18 3-

A. S 3114 4ol 3Ed® D AR DI AISToll Follol 3 DI e DA & ad Acd D &Iul (IHdic 3B gA) DI v dise D WU I IfccRaa v simar
3

B. Zact wSIRRI @ ®18er ur ool arcl weardl &l sic blur el siar 3 aeiifp d siaca & facu o1 ganfaa o= JAaa 3

C. afe 3mu 3ruefl ¢act weizit @ fére $evoic daArse Folnd 3 dl $ADI ABIYRI Az & o 3mu faea o fafleot siell A RIGART YIg &2 JADd &

D. s spees fpft gaet waift 3 S 3 al ot i Bl 3 5 AcA Terw A Jorhl war-Ioll el

il 3w a1 et 3 A 71E 3= goi ¢

[Question ID = 2242][Question Description = S2_qSNz_PG_TMA_Q47]
1. Band Conly/

@qct B sz C
[Option ID = 8965]
2. B and D only/dact B 3iiz D

[Option ID = 8966]
3. Dand C only/a@aer D iz C

[Option ID = 8967]
4. Aand D only/a@aet A sik D

[Option ID = 8968]

Correct Answer :-
e Band Conly/

Dact B sz C
[Option ID = 8965]

48) Rosenow and Pulsipher (1979) proposed a "Personality Planning Process" that
A. Builds on any area's sense of place
B. Develops on objectification process

C. Assists in formulating policy to enhance its uniqueness



D. Emphasizes on the benefits associated with tourism

Choose the correct answer from the options given below:

JAstons 3R ucRfin? (1979) o v ‘wafepea foristal gt (URfcnferél wenfoier QiRiRl) @1 Jeia 1, Sil-
A. fop2ft Ferrer I a9rsT UR foifdfa o 3

B. arqaaur dI yfcpan u? fami¥nd gam

C. fafdrecar 3 gfy @t archt ofifer & forerfzor 3 FeRIaT 2T 3

D. ¢t (aricar) A I3 BRICT @l Yifeea wear 3

il 3w a1 fyaseul 3 A W& 3= goi ¢

[Question ID = 2243][Question Description = S2_qSNz_PG_TMA_Q48]

1. Band D only/

@act B iz D

[Option ID = 8969]
2. Aand C only/dact A siiz C [Option ID = 8970]
3. Cand D only/aae C siiz D [Option ID = 8971]
4. Aand D only/dact A siiz D [Option ID = 8972]

Correct Answer :-

e BandD only/
@act B aiiz D
[Option ID = 8969]

49) The 2002 Cape Town declaration on Responsible Tourism in Destinations defines Responsible Tourism which
A. Improves working conditions and access to the industry

B. Generates greater economic benefits for local people
C. Enhances the well-being of the host communities
D. Involves all types of travelers including disabled travelers in decision making

Choose the correct answer from the options given below:

RFder uicer & ar 3 2002 &I B cSa @y, wRicel Fercl U ReicR wrRicr ot ufemnfa oxd 3, sii-
A. @1 @ ARl Bl ok Foledll & 3R uRfea 3eier ab uga derdl 3

B. FerrflRr el @ fere st snffcs aime Uar il 3

C. starel APSRI DI Sfdol IR JoaR Folrcdl 3

D. feuist / faavetior Stoll Afda asft wriew! @ forvfer gfegan 3 onfier ol 3

il fou s1u freseul 3 31 & Fa= goi ¢

[Question ID = 2244][Question Description = S2_qSNz_PG_TMA_Q49]

B and C only/dsaet B siiz C [Option ID = 8973]
A and B only/dact A siiz B [Option ID = 8974]
A, B and C only/@aet A, B iz C [Option ID = 8975]
B, C and D only/a@aet B, C siiz D [Option ID = 8976]

AW N -

Correct Answer :-
® B and C only/aaa B siiz C [Option ID = 8973]

50) To ensure that the growth remains within Earth's Capacity and to respond to the new ethic for sustainable living, the
regulating and self-regulating global policies developed as a result of the Rio Summits (1992, 2002 and 2012) include:

A. Agenda 21

B. Johannesburg declaration
C. Manila declaration

D. Stockholm declaration

E. Barcelona declaration

Choose the correct answer from the options given below:

5 Pfo1Rad ol @ fere fob fra gedl &I Hlensii @ sfiaz 31 sk Jrad Sfidet &l siferarar ot urctel 8l; Sit orRIeA® 3ii? sicaAlorRIAD dlfas
oSfifern faopRRra %5 iz it 1992, 2002, siiz 2012 o5 feaiY @aicreil & 3usr of -



A. uoist-21

B. SlisrerRest divun

C. flen agon

D. iwala divvn

E. enRRfciion o

il fou s1e fraseul 9 A W& 3a= goi ¢

[Question ID = 2245][Question Description = S2_qSNz_PG_TMA_Q50]

1. Cand D only/

@act C 3k D

[Option ID = 8977]
2. D and E only/@ae D sie E [Option ID = 8978]
3. Aand B only/dact A siiz B [Option ID = 8979]
4. E and C only/a@ae E siiz C [Option ID = 8980]

Correct Answer :-

e Cand D only/
@qcet C ik D
[Option ID = 8977]

51) Following are the Non-probability sampling techniques, except
A. Judgemental Sampling

B. Snowball Sampling
C. Systematic Sampling
D. Cluster Sampling

E. Quota Sampling

Choose the correct answer from the options given below:

forgatfeiRaa 3 A plal SYIRIPAr Yfereriol dmolie o1l 3?7

A. Srewdice dufeist

B. Yolidier 3iufcist

C. RBreidifes Aufcist

D. dereez 3dufdist

E. orer Jufeier

il fou s1u fyepeul 3 21 & 3a= goi ¢

[Question ID = 2246][Question Description = S2_qSNz_PG_TMA_Q51]

1. Aand B only/

Dac A 3iz B

[Option ID = 8981]
2. B and C only/daae B siiz C [Option ID = 8982]
3. Cand D only/asaet C siiz D [Option ID = 8983]
4. D and E only/dac D iz E [Option ID = 8984]

Correct Answer :-

e AandBonly/
@ac A sz B
[Option ID = 8981]

52) Which of the follwing are the parametric tests?
A. Sign test

B. Wilcoxan test

C. Kruskal-Wallis 'H' test

D. ANOVA

E. Z-test

Choose the correct answer from the options given below:

forgsiferRae 31 3 PBlel Blel yraferd udlervr 37

A. arsor udigmr



B. facroiator usteror

C. mawerdifert 'h' udlgror

D. gollar

E. Z-udleror

il fou a1 fraseul 9 2 & 3a= goi ¢

[Question ID = 2247][Question Description = S2_qSNz_PG_TMA_Q52]

1. Aand B only/

@ac A siiz B

[Option ID = 8985]
2. B and C only/@act B siiz C [Option ID = 8986]
3. Cand D only/aaet C sfiz D [Option ID = 8987]
4. D and E only/a@ae D iz E [Option ID = 8988]

Correct Answer :-

e Aand B only/
et A 3k B
[Option ID = 8985]

53) Which of the following are the factors of the 'Big Five Model' of personality?
A. Extraversion

B. Agreeableness

C. Persistence

D. Enthusiasm

E. Emotional stability

Choose the correct answer from the options given below:

xiftbca @ 'fae1 wIza disa' PR fowcifalRaa 3 2 diol dlat A 87

A. gaagasier

B. wsafer siame &t grerar

C. zgar

D. s

E. sirgotica® Rerar

ofi o s1u el 3 A A8t ST ot :

[Question ID = 2248][Question Description = S2_qSNz_PG_TMA_Q53]

1. C,DandE only/

@act C, D3R E

[Option ID = 8989]
2. A, B and C only/daer A, B iz C [Option ID = 8990]
3. B, D and E only/dsaet B, D siiz E [Option ID = 8991]
4. A, B and E only/daet A, B iz E [Option ID = 8992]

Correct Answer :-

e C,DandEonly/
@act C, D 3l E
[Option ID = 8989]

54) Which of the following statements are correct?

A. Activity Ratio measures the effectiveness in using resources.

B. In BCG matrix, businesses that have a high relative market share position but in a low growth industry are called Stars.
C. A tourist company pays dividends to its shareholders as a percentage of its paid up capital.

D. Employment decisions based on seniority is an esssential characteristic of Weber's Bureaucratic Model.

E. Payback period is a discounted cash flow measure of capital budgeting.

Choose the correct answer from the options given below:



forgoiferRaa o A BlorA weror 28 37

A. aiferfaf?r sropura (efrefrd MORN) el & yriter & Yerraeficrar &t ara war 3

B. & fl Sft diftaw 3, A raurT Rerdl AMfE® wua A uftre IR welicH Adl 3 weg a giy ard seiet 3 3, 'Ferf' waant 3
C. wRicol Uil 3rael IRRENR®! Bl 3eil Ygd Ysll @ Yferora @ U 3 cIreiior obT $foTeret Bl 3

D. af¥soar @ smenz Uz AeeIR Hdel forvfa Jav & cll29ndl FHisc BT Udb Aa9A® T &

E. O o smaf?i, dftrea geifést o1 v RBrdEes oiwdl yas 3urt 3

ofi fou o1 el 3 2 A8t STz gl :

[Question ID = 2249][Question Description = S2_qSNz_PG_TMA_Q54]
1. Aand B only/

et A 3k B
[Option ID = 8993]
2. Band C only/@aet B 3z C

[Option ID = 8994]
3. CandE only/d@ae C siiz E

[Option ID = 8995]
4. Aand C only/@act A siz C

[Option ID = 8996]

Correct Answer :-
e AandBonly/

et A iz B
[Option ID = 8993]

55) Which of the following are correct?

A. PATA has its Headquarters/ General Secretariat at Bangkok
B. UFTAA has its Headquarters/ General Secretariat at Monaco
C. UNWTO has its Headquarters/ General Secretariat at Madrid
D. ASTA has its Headquarters/ General Secretariat at Montreal
E. IATA has its Headquarters/ General Secretariat at New Delhi

Choose the correct answer from the options given below:

forgotferRaa 3t 3 BlorY weret A8t 3?7

A. Ui u & v oI gIarert / AsRIRECR Sorw i

B. g uw & © © o1 Jencrr / FAsRIREcr: Hiolien! 3
C. g va sz & 3N b1 JRIer / ssRIREaer Afss #
D. v v & © o1 goacert / FsrRIfarcr JAlfere 3
E. 3r$ v & v @1 gerert / AsRIREer oRil fSoett 3
ofi e s1u fel 3 A A8t 3= goi :

[Question ID = 2250][Question Description = S2_qSNz_PG_TMA_Q55]
1. A, Cand E only/d@aa A, C 3iz E

[Option ID = 8997]
2. B, Cand E only/@ae B, C siz E

[Option ID = 8998]
3. A, Band C only/dact A, B iz C

[Option ID = 8999]
4. C,DandE only/@aa C, D sz E

[Option ID = 9000]

Correct Answer :-

e A, CandE only/adac A, C siiz E
[Option ID = 8997]



56) In the 9t Century A.D., Adi Shankaracharya identified four sacred spots in India, popularly known as 'Chara Dhama' in
Hindu Pilgrimage. They are

A. Badrinath & Kedarnath
B. Rameshwaram & Puri
C. Dwarka & Badrinath

D. Gangotri & Prayag

Choose the correct answer from the options given below:

sitdl orarect 3 3nfe oirart of sira 3 arR ufe Ferell & usare & oft fores Bog, dief Ay 3 iR U A arR &R & old A Sl Sl 3 A
3

A. aéomrer 3z deRoIrer

B. m@raza iz gdt

C. SrR®I 3iik adferrer

D. sl iz gamet

il fou s1e fraseul 9 3 W& 3a= goi ¢

[Question ID = 2251][Question Description = S2_qSNz_PG_TMA_Q56]

1. Aand B only/

@act A 3z B

[Option ID = 9001]
2. Cand D only/daet C siiz D [Option ID = 9002]
3. B and C only/dae B siiz C [Option ID = 9003]
4. B and D only/aaet B siiz D [Option ID = 9004]

Correct Answer :-

e Aand B only/
et A 3l B
[Option ID = 9001]

57) Given below are the Indian rivers. Which of them are correctly mentioned from North to South on the Indian map?
A. Tapi-Narmada-Chambal

B. Godavari-Bhima-Krishna
C. Tungabhadra-Cauvery-Periyar
D. Yamuna-Sabari-Son

Choose the correct answer from the options given below:

RA bl forrorferRaa cifel @1 Blortl e HRA D AlGIfIg UR IR A cfdrur & siR aifeRil @1 8l e wer 37
A. ardi - owicr - asee

B. silcras - sftem - ayeumm

C. donIg - ol - iR

D. @rggo - arast - 3ilor

o Re a1e Riescdl 3 A & a2 9ol ©

[Question ID = 2252][Question Description = S2_qSNz_PG_TMA_Q57]

1. Aand B only/

@act A sz B

[Option ID = 9005]
2. Aand C only/dact A siiz C [Option ID = 9006]
3. B and C only/dae B sfiz C [Option ID = 9007]
4. B and D only/dact B siiz D [Option ID = 9008]

Correct Answer :-

e Aand B only/
Dact A 3iz B
[Option ID = 9005]

58) Factors that determine the overall attractiveness of a tourism region include:
A. Price levels

B. Attitude towards tourists



C. Sports, recreation and educational facility
D. Natural beauty and climate
E. Conferences, congresses, meetings and seminars

Choose the correct answer from the options given below:

fop2ft wRicar i & Jequl T ol forerifya w2ol At PR kT 3-

A. gca ¥

B. w=icml @ yfer wrcsr

C. @¥s1, Hollfdells 3iie difdre Afrems

D. groferes Hicet aiiz Stcrary

E. 3gacie1, ®io)d, dod 3R Al6R

il 3w a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 2253][Question Description = S2_qSNz_PG_TMA_Q58]

1. Band Conly/
@act B sie C
[Option ID = 9009]
2. B, Cand D only/dact B, C 3iiz D [Option ID = 9010]
. A, B, Cand D only/@aet A, B, C siiz D [Option ID = 9011]
4. A, B, C, DandE/aaa A, B, C, D siiz E [Option ID = 9012]

w

Correct Answer :-

e Band Conly/
Dact B afiz C
[Option ID = 9009]

59) Heritage and Culture are important segments of Indian tourism. To promote tourism, which of the following measures
have been taken?
A. Establishing Museums

B. Conservation and maintenance of monuments
C. Trained and license holder guides
D. Non-interference of community

Choose the correct answer from the options given below:

forrRra 3iiz T, sl wricor @ #Agcagel ugt & sl wRicer @1 gerar 3ot & fere fraftiRaa 3 A BloRY we IoN 318 37
A. Jiopercril &Y Ferruenn

B. FaRas! @1 HIGIUT Ud -3

C. gforfdra aem crsRixa- 4Rl siss

D. J¥cR @I sEFasiu

il fou s1u fyepeul 3 21 & 3a= goi ¢

[Question ID = 2254][Question Description = S2_qSNz_PG_TMA_Q59]

1. A, Band Conly/

@act A, B aie C

[Option ID = 9013]
2. B, C and D only/daer B, C 3iiz D [Option ID = 9014]
3. A, Cand D only/aaet A, C aiiz D [Option ID = 9015]
4. A, B and D only/daa A, B siiz D [Option ID = 9016]

Correct Answer :-

e A, BandConly/
@act A, B sl C
[Option ID = 9013]

60) Find the correct match between the name of high speed train and the country in which the train is operationg from
the following:

A. AVE : Spain
B. ICE : Italy
C. X2000 : Sweden



D. TGV : England

Choose the correct answer from the options given below:

forgotferfiac 3 A Dot 91 311z Jotdl TcIal archl s TUis Loil B olar Fafera 37
A. e dt $: 3o

B. an$ i € : secht

C. vaa 2000 : Fdisa

D. & ofi t : cigor

il 3w a1 fraseul 9 A W& 3= goi ¢

[Question ID = 2255][Question Description = S2_qSNz_PG_TMA_Q60]

1. Aand B only/

dact A 3z B

[Option ID = 9017]
2. Band C only/@ae B siiz C [Option ID = 9018]
3. Aand C only/d>act A siiz C [Option ID = 9019]
4. Cand D only/@aet C siiz D [Option ID = 9020]

Correct Answer :-

e Aand B only/
Dact A iz B
[Option ID = 9017]

61) Which two of the following are the types of Eurail passes?
A. Eurail Flexible Pass

B. Eurail Global Pass

C. Eurail Select Pass

D. Eurail Multi Country Pass

Choose the correct answer from the options given below:

forgsiferRaa 3 3 wlorAA 31 YIsel URT D YR 37

A. Jersd wIfiRIad Rt

B. Jarset sellger urA

C. JrIse Aciac ura

D. Iset a1icél B ura

il fou s1u fyeseul 3 3 & 3= goi ¢

[Question ID = 2256][Question Description = S2_qSNz_PG_TMA_Qé61]

1. Aand B only/

@act A siiz B

[Option ID = 9021]
2. B and C only/@aet B siiz C [Option ID = 9022]
3. Cand D only/dqe C siiz D [Option ID = 9023]
4. Aand C only/@aet A siiz C [Option ID = 9024]

Correct Answer :-

e Aand B only/
@dct A 3k B
[Option ID = 9021]

62) Find the correct match between the name of the luxury train and the country of operation.
A. Kyushu Seven Stars : South Korea

B. The Belmond Andean Explorer : Mexico

C. Al Andalus Express : Spain

D. The Ghan : Australia

Choose the correct answer from the options given below:

forgotferRae 3 3 garerd 91 iR 3 dctol arcil cIasil ol I ol FdAferd dhifsre-



A. a9l Aad el : 53T o

B. g Sc191us uldszrol vartell?? : AfRID!

C. 3rct USIgA YA & Fol

D. g aret : sifzfern

il fou s1e fraseul 9 31 & 3a= goi ¢

[Question ID = 2257][Question Description = S2_qSNz_PG_TMA_Q62]

1. Aand B only/

@act A siiz B

[Option ID = 9025]
2. B and C only/@act B siiz C [Option ID = 9026]
3. B and D only/dae B sfiz D [Option ID = 9027]
4. C and D only/asaet C iz D [Option ID = 9028]

Correct Answer :-

e Aand B only/
et A 3l B
[Option ID = 9025]

63) Which of the following are the traditional types of tourist guide books?
A. Foders and Frommers

B. Baedecker

C. Hachette Guides Bleues

D. Rough Guides

Choose the correct answer from the options given below:

forgaiferRaa 3 3 dlerRil gl URUR® GoT Bl WRicd 35S Yrad &

A. wIsH us wiad

B. arz®:

C. 39Ic o153 scgA

D. 2w smega

offa fou s1u fRyepeul 3 2 & 3a= goi ¢

[Question ID = 2258][Question Description = S2_qSNz_PG_TMA_Q63]

1. Aand B only/

Dact A 3z B

[Option ID = 9029]
2. Cand D only/aaet C sfiz D [Option ID = 9030]
3. Aand D only/@aet A siiz D [Option ID = 9031]
4. B and C only/daa B siiz C [Option ID = 9032]

Correct Answer :-

e AandBonly/
@act A sl B
[Option ID = 9029]

64) Peninsular and Oriental Steamship Company introduced steamship services to two of the following destinations. Find
the correct destinations.

A. India

B. USA

C. Far East

D. Central Asia

Choose the correct answer from the options given below:

tforeerRr Us aiif¥uuce ¥ Afdu wusil of forafeiRaa 3 A fpet JI SPIEl @ dia &AM Jar 9 & ofi?
A. 3

B.guaw

C. gx yd (Br $)

D. asrezr ufdrm



il fou s1u fyeseul 3 21 & 3a= goi ¢
[Question ID = 2259][Question Description = S2_qSNz_PG_TMA_Qé64]

1. Aand B only/

@act A siiz B

[Option ID = 9033]
2. B and C only/dae B siiz C [Option ID = 9034]
3. Aand C only/dact A 3iiz C [Option ID = 9035]
4. Cand D only/@aet C siiz D [Option ID = 9036]

Correct Answer :-

e Aand B only/
@act A 3iiz B
[Option ID = 9033]

65) Which of the following tourist guide books have their beginning from the United Kingdom?
A. Routard

B. Trailblazers

C. Let's Go

D. Lonely Planet

Choose the correct answer from the options given below:

forgsiferRan 31 21 Rp21 wRicot smss gart &l B3I $ocis (Yollses fbarsa) A g8 ofi?
A. I=ecds
B. Screcisiz
C. diga s
D. clorctt weloie
i) feu sru farseal 3 A A Ia= ol ¢
[Question ID = 2260][Question Description = S2_qSNz_PG_TMA_Q65]
1. Aand Conly/
@dact A 3iz C
[Option ID = 9037]
2. B and D only/dae B siiz D [Option ID = 9038]

3. Aand D only/@aet A siiz D [Option ID = 9039]
4. Cand D only/daer C siiz D [Option ID = 9040]

Correct Answer :-

e Aand Conly/
dact A siiz C
[Option ID = 9037]

66) Match List | with List Il

List | List Il
IMuseum City

A. Victoria Memorial Museum I. Jaipur

B. Indira Gandhi Memorial Museum |ll. Hyderabad
C. Salar Jung Museum Ill. Kolkata

D. Albert Hall Museum IV. Delhi

Choose the correct answer from the options given below:

el -1 @ 3 -1l 31 Jafera bifSie

et -1 (2ivgerer) e -1l (o)
A. fracif¥n d¥RIe AsBIern |. SrRIgz

B. Sfcer siieht aonf¥e Isprer Il. 3crae
C. ATCTIRSI™T HIBICRT lll. Drcrmran
D. srcad diet FsBIcRT IV. fgecht

il 3w o1 fycul 3 A At I gfom :
[Question ID = 2261][Question Description = S2_qSNz_PG_TMA_Q66]

1. A-1V,B-1I,C-1,D - Il [Option ID = 9041]
2. A-1I,B-1ll,C- IV, D - | [Option ID = 9042]
3. A-1ll,B-1V, C-1I,D- | [Option ID = 9043]



4. A-1,B-1l,C-1ll, D -1V [Option ID = 9044]

Correct Answer :-
e A-IV,B-Il,C-1,D-Ill [Option ID = 9041]

67) Match List | with List Il

List | List Il

National Park Location

A. Ranthambore National Park |I. Madhya Pradesh
B. Bandipur National Park Il. Karnataka

C. Pench National Park Ill. Rajasthan

D. Dudhwa National Park IV. Uttar Pradesh

Choose the correct answer from the options given below:

et -1 B e -1l A @ i

et -1 (sl ares) et -1l (zerror )
A. JVREHER Gl9elcl U |. Jre1 ggor

B. qidlg? sloroicl uras Il. wotfed

C. T oloreiel urds 11, Isr=z-ermet
D. gerar sioreict uras IV. 3az gygor

oif<l feu aru famedl 3 A A8 3R gfore :
[Question ID = 2262][Question Description = S2_qSNz_PG_TMA_Qé67]

A-1,B-1ll, C-1V, D - Il [Option ID = 9045]
A-1ll,B-1,C-1l,D - IV [Option ID = 9046]
A-1ll,B-11,C-1,D- IV [Option ID = 9047]
A-11,B -1, C- 1V, D- | [Option ID = 9048]

A WN -

Correct Answer :-
e A-I,B-1ll,C-1V,D- Il [Option ID = 9045]

68) Match List | with List Il

List | List 11

Tourism Organisation [Head Quarters

A. PATA I. Alexandria, Virginia
B. ASTA Il. Bangkok

C. UFTAA lll. Montreal

D. ICAQ IV. Brussels

Choose the correct answer from the options given below:

It -1 Bt e -1l A gakma B

Rrft -1 (urfeat is1o01) ot -1l (Iz=Imer)
A.dted o |. srcrarifszm, astiform
B. vwa étu Il. Sp1>
C.guréiue 11, Fifc=reT

D. amr$ 3l w s IV. RIca

oifa feu aru fasedl 3 A A 3R gforo :
[Question ID = 2263][Question Description = S2_qSNz_PG_TMA_Q68]

A-1,B-1ll,C-1V, D - Il [Option ID = 9049]
A-1V,B-11,C-1ll, D -1 [Option ID = 9050]
A-11,B-1,C-1V, D - Il [Option ID = 9051]
A-11,B-1Il,C-1,D- IV [Option ID = 9052]

A w N =

Correct Answer :-
e A-I,B-1ll,C-1V,D- Il [Option ID = 9049]

69) Match List | with List Il

List | List Il

Air Transportation Concept Key person associated

A. Hot Air Balloon |. Jean-Pierre-Blanchard

B. Steerable Balloon Il. Gabriel and Charles Voisin
C. Fixed Wing Flying Machine (Aeroplane) |lll. Montgolfer Brothers

D. World's First Aircraft Company IV. Sir George Cayley

Choose the correct answer from the options given below:



et -1 B e -1l A e i

oxeht -1 (saré uf¥asor sraemzor) oxeht -1l (aidfera cafio)
A. dic R Aqget I. Sficr-forn-sctoas

B. ¥rrac dqga 1. 3feRreT ¢s arcd dislRor
C. firass fde1 wersa1 aAoflel (WRRIteIon) 11, iicsncw: get

D. faea &l usell arRI6eT dUslt IV. 1= Sifst dex

oiil f¢u are famedl 3 A A8 IR gforu :
[Question ID = 2264][Question Description = S2_qSNz_PG_TMA_Q69]

A-1ll,B-1,C-1V,D - Il [Option ID = 9053]
A-1,B-1ll, C-1l,D - IV [Option ID = 9054]
A-11,B-1,C-1V, D - lll [Option ID = 9055]
A-1V,B-1l,C-1ll, D - | [Option ID = 9056]

A W N -

Correct Answer :-
e A-IlIl,B-1,C-1V,D- Il [Option ID = 9053]

70) Match List | with List Il

List | List Il

Landmark year of

Name of Travel Agenc
gency Travel Agency Business

IA. Thomas Cook conducted the first group tour to

1. 1880
India and the group landed in Mumbai
B. Thomas Cook and Sons established Offices in Il 1920
Mumbai and Kolkata )
C. Thomas Cook India (Ltd.) was established . 1978
under the Companies Act 1956 )
D. Jeena and Company- the first travel agency V. 1878

organised group tours abroad

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et | eht -1l
A.ﬁma@ammmgmﬁmgmm,aﬂﬁsgﬁéﬁll 1880
ST e ’

B. eifor1 P Us A of Heg iR Plerpir 3 DRIferr Hlel 11.1920
C.a"m@ﬁi%m(ﬁrﬁi%s)ﬁfmdqaﬂm1956a§aiﬁﬁﬁ§§m 1978
ot .

D. Sfielr s @wucil usell gaer woizfl off o fagor sygror & Tddsr 9 IV.1878

[

oifa feu aru faasedl 3 A 8 3R gforu :

[Question ID = 2265][Question Description = S2_qSNz_PG_TMA_Q70]
1. A-11,B-1I,C-1V,D-I

[Option ID = 9057]
2. A-1,B-IV,C-1Il,D-Il

[Option ID = 9058]
3. A-IV,B-1,C-1ll,D- 1l

[Option ID = 9059]
4. A-IV,B-1I,C-1,D-1ll

[Option ID = 9060]
Correct Answer :-
e A-I,B-1IlIl,C-1V,D-1I
[Option ID = 9057]



71) Match List | with List

List | List Il

Type of

Their characteristics
Restaurants

I. Its a formal restaurant, which serves drinks, single
A. Bistro dishes and other meals. It extends professional services
and presents printed menus.

Il. Its a small restaurant that serves simple, moderately

B. Brasserie
priced meals and wine. The service is informal and quick.

C. Coffee |lll. Its a restaurant that mainly serves snacks and
Shop beverages 24 hours a day. Mostly offers American Service.

IV. This is a restaurant of French origin. Mainly serves

D. Cafe Coffee and snacks

Choose the correct answer from the options given below:

Il -1 ot gt -1 27 difera difsre ¢

et -1
(Qraei & et -l (Sorh frdream)
gPR)
|. 315 situanf¥as 3FaRI 3ldr 8, Sil ORI, Udbcl islal 31T 31631 siisTol
A. Rl [WRIIAI 3 U8 U9IaR AdIU YeIol ol 3 3R HlGd Aoy Yddd Dl
g
B. 390 1. 21 BYer IFarRi BXar & St ATENRVI iR B BIId Uz #istal 3iiR AfSr

TR 3 AdT Sfelluaniya i caf¥d axdl 3

C. @it |lll. &1z vop IR @ Sl didiRil 8¢ IRRA: Fold=d 3R das RIRIAT &
loffa siffrepiond: arfidbl Aard ygrol BT 3

D. d® (V. a1s wiAlRdl ger o1 i 3 Sl FIoada: oibl ik Folad RIdr 8

il fou o1e fyscul 3 3 At IR gfom ©

[Question ID = 2266][Question Description = S2_qSNz_PG_TMA_Q71]
1. A-1,B-1,C-ll,D-1IV

[Option ID = 9061]
2. A-1,B-1I,C-1V,D-1ll

[Option ID = 9062]
3. A-ll,B-1,C-IV,D- 1l

[Option ID = 9063]
4. A-1,B-1I,C-1V,D-1I

[Option ID = 9064]
Correct Answer :-
e A-Il,B-1,C-1ll,D-1IV
[Option ID = 9061]

72) Match List | with List I

List | List Il
Event of Singapore Airlines Year

A. Presented its first cookbook- Above and Beyond 1. 1999
B. Kris Flyer launched 1l. 2001
C. Kris World launched lll. 2010
D. Giant Pandas Kai Kai and Jia Jia flown from Chengdu [IV. 2012

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

RI -1 (RiSIIYR RIReISeA A J31 &cel) Rrdt -1l (al)
A. 3raeil uscll 1S yRawmr 'sed us frifes’ yzga o 1. 1999




B. fipiveirR & 9Fand §d 1l. 2001

C. Rp1acs & 9Fand &8 Ill. 2010
D. SIRic ISR ®rE-®1$ 3R fr3n-fsim of dorg A IsTol st IV. 2012

oiil feu are fawedl 3 A A8 3R gfore :
[Question ID = 2267][Question Description = S2_qSNz_PG_TMA_Q72]

A-11,B-1,C-1ll, D - IV [Option ID = 9065]
A-1V,B-1l,C-1,D - lll [Option ID = 9066]
A-1ll,B-1,C-1l,D- IV [Option ID = 9067]
A-1V,B-1lIl, C-1,D -l [Option ID = 9068]

A WN -

Correct Answer :-
® A-Il,B-1,C-Ill,D- IV [Option ID = 9065]

73) Match List | with List Il

List | List Il

I. Modern materialists - Modern idealists -

IA. Cohen (1972
( ) Traditional idealists - Traditional materialists

Il. Organised mass tourist - individual mass

B. Dal 1989
alen ( ) tourist - the explorer - the drifter

lll. Adventurous - home body - vacationers -

C. Cohen (1979) moderates

D. Perreault, Dorden |IV. Recreational - diversionary - experiential -
and Dorden (1979) experimental - existential tourist

Choose the correct answer from the options given below:

et -1 @ et -1l A e Hifdre
et -1 et -l

I. smegfora siferpard - snegford YRRMEK - uRFus®
JRRIAIGT - uRdufs® siifarapardt

Il. 1o g Wwicd - Falpe AgPp wied - sk -
HATDS

C. @13a (1979) Ill. 8=t - Sadist - & Hotrol arel - FeAA

D. afesiice, 336t iz (V. Feiifdeiic Qait - fafderar et - sropra Gell - gierentt
1301 (1979) - Rdcaac] wRiced

A. DRzt (1972)

B. srdier (1989)

offc feu aru frpedl 3 3 13 3R gforu :

[Question ID = 2268][Question Description = S2_qSNz_PG_TMA_Q73]
1. A-IV,B-lll,C-1l,D-1

[Option ID = 9069]
2. A-1,B-1,C-IV,D- 1l

[Option ID = 9070]
3. A-1L,B-1,C-1,D-1IV

[Option ID = 9071]
4. A-IV,B-1,C-1l,D-1Il

[Option ID = 9072]
Correct Answer :-
e A-IV,B-1IlIl,C-1I,D-1
[Option ID = 9069]

74) Match List | with List Il

List | List Il

IMethods of Data

D ipti
Analysis escription




I. Predicts a categorical dependent variable
based on a linear combination of independent
variables

A. Discriminant
Analysis

Il. Determines the relative importance of
B. Factor Analysis |different attributes of a product and utilities of
each level of every attribute of the product

Ill. Predicts multiple continuous dependent

C. Conjoint Analysi
onjoint Analysis variables with multiple independent variables

D.
Multivariate Analysis
of Variance

IV. Identifies a reduced number of factors from a
large number of measuring variables

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

?‘;ﬂé‘lﬁ(fmngﬁ-ll(ﬁm)

A. Rt Ruecvor |. Yadq @Rl @ i ARse uR fdfa ari & Fuse
C-wmg@mmﬁqaﬁémawmmﬁmaﬁ
F';;;:’:"m@ V. 3ot FfereT a3t & A oot i d DRt Bt s

off<l feu are fpedl 3 A 38 3R gfore :

[Question ID = 2269][Question Description = S2_qSNz_PG_TMA_Q74]
1. A-,B-Il,C-1I,D-1IV

[Option ID = 9073]
2. A-1,B-1I,C-1V,D-I

[Option ID = 9074]
3. A-1LB-1V,C-1,D-1l

[Option ID = 9075]
4. A-1,B-IV,C-1l,D-1l

[Option ID = 9076]
Correct Answer :-
e A-I,B-Il,C-Ill,D-1IV
[Option ID = 9073]

75) Match List | with List Il

List | List Il

Theorist Background

A. Frederick Taylor [I. Pensylvanian Mechanical Engineer
B. Max Weber Il.Harvard Psychologist

C. Elton Mayo Ill. American Behavioralist

D. Chester Bernard |IV. German Sociologist

Choose the correct answer from the options given below:

It -1 ot g -1l 2 gifera difsre ¢

et -1 (Rrgiaor) et -1l (geouf)

A. B3frmear |. afsarcaforn @ Adlimd sSforR
B. dax de? Il. ards & arotidsnfors

C. wecat d=t 1l. srafywor =rasrardt

D. e gafs IV, siclt & Farstondt

oifa feu aru fsedl 3 A A8 3R gforu :



[Question ID = 2270][Question Description = S2_qSNz_PG_TMA_Q75]

-1, B-1,C-1l, D-IV[Option ID = 9079]
-1V, B-1,C-1l, D-Ill [Option ID = 9080]
-1,B -1V, C-Il, D-Ill [Option ID = 9077]
-1, B-1ll,C-1,D-1V [Option ID = 9078]

HwN e
> > > >

Correct Answer :-
e A-I,B-1V,C-Il,D-Ill [Option ID = 9077]

76) Culinary Tourism is the exploration of food as the purpose of tourism. Listed below are culinary delights from India.
Arrange them in a sequence from Eastern to Western India for a tourist to explore, who is travelling from East to West of
India.

A. Litti Chokha - Rugda

B. Shukto - Luchi & Alur Dom
C. Muthia - Tilgur

D. Dal Bafla - Poha Jalebi

E. Khandvi - Methi Thepla

Choose the correct answer from the options given below

ara™I WRicol (bfeert ¢f¥sdr), UrRicol & YRIISIel @ 39U J siIsTol I Fiel AT & ol RARI isloll <l P €1 3Rl & so6 gd A ulaar uRda &l 3R
AT D2 W Wied D e gdl ard A ulRell sira @ Hisl & o d

A. Tl aar - 18T

B. 9repI - ot sirelR Qar

C. gfoar - forergs

D. gre1 arwerr - disr Steret

E. zisdl - dteft Suen

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 2271][Question Description = S2_qSNz_PG_TMA_Q76]

. A, C, D, B, E [Option ID = 9081]
B, A, C, D, E [Option ID = 9082]
C, D, A, E, B [Option ID = 9083]
E,B,C, A

1
2.
3.
4 , D [Option ID = 9084]

y» Py &y

Correct Answer :-
e A C,D, B, E[Option ID = 9081]

77) Arrange the following monuments in the chronological sequence.
A. Bibi ka Makbara, Aurangabad

B. Taj Mahal, Agra

C. Humayun's tomb, Delhi

D. Itimad-ud-daulah's tomb, Agra

Choose the correct answer from the options given below

forgaifeiRaa difefedsil @1 Sord forfor & Preray @ SRR

A. St &1 FIpTR, siiRenac

B. damsmeeed, PRI

C. zar @1 ADwI, Boch

D. uadHrIG-3c1-Sicl DI ADBRI, PRI

il fou s1e fraseul 9 21 & 3a= goi ¢

[Question ID = 2272][Question Description = S2_qSNz_PG_TMA_Q77]

)

D, B, C, A [Option ID = 9085]
B, C, A, D [Option ID = 9086]
. C, D, B, A [Option ID = 9087]
A, B, C, D [Option ID = 9088]

A W N -

)

Correct Answer :-



e D, B, C, A[Option ID = 9085]

78) As per ICAO Chicago Convention, there are 5 freedoms of AIR. More freedoms were added later. Arrange the below
listed freedoms of AIR in their ascending order from the first freedom to the fifth.

A. Carry revenue traffic from home country to another country

B. Overfly without landing

C. Landing for technical reasons

D. Carry revenue traffic from another country to the home country

E. Carry revenue traffic from home country to another country and then pick up and drop-off traffic from that country to
another country

Choose the correct answer from the options given below

3mr$ 3l © 3N / fOrpEIl Boderd @ 3GRIR UM &dIs At & ofld I sRfl 3aré Fadqarsil ol Uscil Fadqgar A Uiad! Fadgdl @ @9 I caai-erd
{4523

A. Isa S 3ruct $O1 A 316?a 9T DI oI SiTell

B. cif3er fopA fdorr fob=dl sio=1 S91 @ HUR ISTal HIaIT

C. amofihl ®rull 3 difSsr dolr

D. sra b 3ro=a $91 A 31Uol ST cllell

E. Iored b 1ot 391 A 3163 391 I A Sl 3112 3A 91 A b IoIb2 3iewT 391 i IAReIT
offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 2273][Question Description = S2_qSNz_PG_TMA_Q78]

C, D, E [Option ID = 9089]
B, E, D [Option ID = 9090]
, A, D, E [Option ID = 9091]
C, D, E [Option ID = 9092]

A WN -

Correct Answer :-
e B, A, C, D, E [Option ID = 9089]

79) Airtours Plc was created by an exceptional entrepreneur, David Crossland. Arrange major achievements of Airtours Plc
in a sequential order.

A. Commencement of the Euro sites business

B. Airtours entered into the stock market

C. Acquisition of Spies and Tiaereborg, a leading scandinavian tour operating business
D. The creation of an inhouse airline

E. Acquisition of Pickfords Travel services Ltd.

Choose the correct answer from the options given below

T Ieayee el 3fds BIRICS of TR wids @I Yot b e wid &I ygz sucfeeril o gaioAR 3
A. I A3 Astora bl gHama

B. wree @1 9RR deIR d yaer

C. Tosafirior &l 3ppull ¢ sifufest fsrorT Fursst ik Sdie! @1 sife)sur

D. ¥ di GReiseA HI Ferdein

E. Rrowigd caa afdrs fafies o1 sif2eygor

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 2274][Question Description = S2_qSNz_PG_TMA_Q79]

1. B, C, D, E, A [Option ID = 9093]
2. A, B, C, D, E [Option ID = 9094]
3. C, D, E, A, B [Option ID = 9095]
4. B, A, D, E, C [Option ID = 9096]

Correct Answer :-
e B, C, D, E, A[Option ID = 9093]

80) The sequence of French Classical Courses in a menu is-



A. Oeufs/ Farineaux - Poisson

B. Entree - Releve

C. Entremets - Fromage - Savoureaux
D. Sorbet - Roti - Legumes

E. Hors d'oeuvre - Potage

Choose the correct answer from the options given below

xistel Il (Aoy) A © aacnBRice PRIS &I I8 B 3 -

A. 31w /BfvoiaeT - dis

B. 3moq) - Rea

C. 3Nqdd - QAT - ATAH

D. A - et - Ay

E. sicia - diarst

ofid fou o1 el 3 A A8t ST gt ¢

[Question ID = 2275][Question Description = S2_qSNz_PG_TMA_Q80]

D, C [Option ID = 9097]
, C, D [Option ID = 9098]
B, D [Option ID = 9099]
C, E [Option ID = 9100]

A W N =
>m>»m
@ > m >
ONww

Correct Answer :-
e E, A B, D, C[Option ID = 9097]

81) World Tourism Day is celebrated every year on 27th September with a theme. Arrange the following themes
chronologically as per the year of celebration.

A. Tourism and Biodiversity

B. Tourism and Community Development

C. Tourism and Sustainable Energy: Powering Sustainable Development
D. Tourism - Linking Cultures.

E. Tourism and Water: Protecting Our Common future

Choose the correct answer from the options given below

gA® ad fara wrice Rawt ue ofler o arer 27 Riaser ol #Hoirn sitar 3 foraifeilRaa efiel o1 o AdfRRIa smRilsiol ad & PIeraAeRIR
Rraf¥erd d3

A. wicat 3ii? Sta-fafarerar

B. wricet siir ARICIR® Rt

C. wrica 3R emevfia et @ Jaqa faerRT ! Seil Auce dollel

D. wricer : FFpierIl @Y Sison

E. wricet 3iiz SIct : 3R AT i &Y 2811 el

il f3u a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 2276][Question Description = S2_qSNz_PG_TMA_Q81]

y

, A [Option ID = 9101]
, E [Option ID = 9102]
, A [Option ID = 9103]
, B [Option ID = 9104]

» By

D,C E
,A B, C
C,B,D
D,C E

HwnN
>mow

y &

Correct Answer :-
e B, D, C, E, A[Option ID = 9101]

82) Wahab, Crampton and Rothfield (1976) developed a linear model of the tourism decision making process. Arrange the
steps of the process in a logical sequence.

A. Initial framework - Conceptual alternatives
B. Fact gathering - Definition or assumptions

C. Design of stimulus - Forecast or consequences



D. Cost benefits or alternatives
E. Decision - Outcome

Choose the correct answer from the options given below

g8, DFteot iR Aerbles (1976) of uica forvf gfepn o1 v Yxdk yreu fraf3e foan 331 gfigen ot 318 o 3 raf¥ea o3
A. it orl Giar - saeRncas fisea

B. a2 wasdfiasaur - af¥sirdr A1 srefdret

C. Elue @1 3arsd - ufvma & gd dagen

D. forpeul 1 ceId o

E. forvfer b1 forsped

ofid fou a1 el 3 A 8t STz gl :

[Question ID = 2277][Question Description = S2_qSNz_PG_TMA_Q82]

B, C, D, E [Option ID = 9105]
B, D, C, E [Option ID = 9106]
, A, C, D, E [Option ID = 9107]
A, D, C, E [Option ID = 9108]

A w N =

Correct Answer :-
e A B, C, D, E[Option ID = 9105]

83) Arrange the following steps in hypothesis testing in the order in which these steps are taken.
A. Determining the appropriate statistical test

B. Setting the decision rule

C. Analysing the data

D. Setting the level of significance

E. Setting null and alternate hypothesis

Choose the correct answer from the options given below

uf¥cuett usigior & forgor aRvil ®f 3 @t A &1 KB oo 3 308 gRier fovan sirar 3
A. 3ftra A= gt o1 forerer

B. fowfr formr w1 forerizor

C. s1er @1 faessuur

D. sefpar @ ¥az @1 forerfzor

E. gra 3iiz dofeus uf¥acucn @I forerzor

i fou s1u frapeul 3 21 & 3a= goi ¢

[Question ID = 2278][Question Description = S2_qSNz_PG_TMA_Q83]

1. A, B, C, D, E [Option ID = 9109]
2. D, E, A, B, C [Option ID = 9110]
3. C, D, E, A, B [Option ID = 9111]
4. E, A, D, B, C [Option ID = 9112]

Correct Answer :-
e A B, C, D, E[Option ID = 9109]

84) Arrange the following schools of management in the order of their emergence.
A. Management Science School

B. Behavioral Science School

C. Human Relations School

D. Classical Management School

E. Neo-classical Management School

Choose the correct answer from the options given below

forgsiferRaa yeierst frazensisii @ 3oid 3gd D eRIR Rdi¥erd ®3F



A. drsric FEH T

B. Jsferre a5 F@ma

C. ggiol 916 el

D. aenfRroer Jotswdic e

E. fori-aenf¥ree dolsiic o

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 2279][Question Description = S2_qSNz_PG_TMA_Q84]

D, E [Option ID = 9113]
E, A [Option ID = 9114]
, A, E [Option ID = 9115]
B, A [Option ID = 9116]

A W N -

Correct Answer :-
e A B, C, D, E[Option ID = 9113]

85) Arrange the following events in chronologically ascending order of their occurance.
A. First Worldwide Traffic Conference organised by IATA

B. Standard Passenger Sales Agency Agreement introduced by IATA

C. International Meeting Academy founded by ICCA

D. IATA/ UFTAA Travel Agent ID card programme launched

Choose the correct answer from the options given below

forrarferRaa arcatIsii ol Jord afed Blol D Uscl A dI6 D TIH d PITRIAGRIR R
A. 3% € & T ERI Usd acddiss ¢fibd ®dioA Pl IRISTel

B. 3 © & u grI ¥¢uss tRisk AcA wsfidic dor fopar sk

C. 3rg 31 Ml v gRI $evaloreret 3ifesT srprcatl &bl Fermuen

D. 3g v & v/ Y uw & u v ad Tic 3E 31 BIS Yofid BT 9HRH

ofid fou a1 el 3 A A8t Sz gl ¢

[Question ID = 2280][Question Description = S2_qSNz_PG_TMA_Q85]

1. ¢,D, A B

[Option ID = 9117]
2. A,B,D,C

[Option ID = 9118]
3.B,C,D, A

[Option ID = 9119]
4. D, A B,C

[Option ID = 9120]
Correct Answer :-
e C,D,A, B
[Option ID = 9117]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Lake Pichola is a fresh water lake in Udaipur, Rajasthan and attracts a large number of tourists. Various luxury
hotels have been developed in its vicinity.

Reason R: Lake Pichola is a natural fresh water lake and has two islands, Jag Niwas and Jag Mandir. They are one of the
major reasons of tourist attraction.

In light of the above statements, choose the most appropriate answer from the options given below

il €1 erol fu aw 31 uep @ sifdraseret (A) 3iiz g2 @1 a (R) @1 srr 3

sifdrperat (A) : firdien sfiel AIs=enel @ 35ayR 3 damel urell &I sficr 3 3R asl oSt A 3 WRicd 3 8 $AD MRA-URI 3M6Id cIasisl alcel
frfRa fopw a1e 3



a® (R) : Rrdien sfiar grofere act uredl 6 sfie 3 siiz s iR se1 forart siiz sweI difeR oI dl flu & A wicdl @ aoHur @I yga drul
3

IRl el @ 3l 3 forotifesda faaeul 3 A 8 3= ol :

[Question ID = 2281][Question Description = S2_qSNz_PG_TMA_Q86]

. Both A and R are correct and R is the correct explanation of A/(A) 3iz (R) cleil J1dt 2 iz (R), (A) &t 3d =mezn 3 [Option ID = 9121]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) clail 3@l 8 woq (R), (A) &t 38l == oidt 8 [Option ID = 9122]
. Aiis correct but R is not correct/(A) 3t 8 weg (R) &t ot & [Option ID = 9123]

. Ais not correct but R is correct/(A) 3@t o8 8 weoq (R) @t & [Option ID = 9124]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gleil 3@t & 3z (R), (A) &t 3@ wmz=n 8 [Option ID = 9121]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Chinese airlines are among some of the most profitable globally, with their profits in 2010 four times higher
than the US Airlines, and twice as profitable as the European Airlines.

Reason R: This has been related to not only to a booming chinese economy, but the regulation of the domestic aviation
market and the rise in domestic investment, with many airports also partially privatized.

In light of the above statements, choose the most appropriate answer from the options given below

ofl 3l erel fRu s 3 ud B sifirperet (A) iR gIR @I ads (R) @ar srI 3

aifdrperet (A) : <ol &1 fper wuforr faea & Aaifere cmt warl arcll g wuforl 3 A 3, Rrermr ami ad 2010 o Siret AT &I fewer
DuUferll @ el A IR Il AP daor R b eIt duferil A gotelr a1

a® (R) : saoor Jder RBrw <iell sreferazen 3 gu sicafdre famrt A 8l oidl @ afed As a3 f[ererel aeIR @ faformere aen @3¢ foraer 3 g8 gig
@D ATA-ATA 3A dId A 9l J31 3 b o1 {GeIeIuToll @I 31ifdre WU A forsiiaur v sk &

IR PGl D 3HIClID i forvotifcpa fameai 3 A A8 IR ol ¢
[Question ID = 2282][Question Description = S2_qSNz_PG_TMA_Q87]

1. Both A and R are correct and R is the correct explanation of A/(A) siiz (R) @il 3@t 8 sii (R), (A) ot 3 =me=n & [Option ID = 9125]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil 2l & weoq (R), (A) &t 3@ =m=n o8t 8 [Option ID = 9126]
3. Aiis correct but R is not correct/(A) 3@ & weog (R) 3@ odt & [Option ID = 9127]

4. A'is not correct but R is correct/(A) 3@ set 8 weog (R) &t & [Option ID = 9128]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) Slsil 3t 8 3z (R), (A) &t 3t wmeen 3 [Option ID = 9125]

88) Given below are two statements

Statement I: User-generated content on Trip Advisor is used by many travelers to choose hotels, restaurants and activities
when they travel.

Statement Il: Fam trips reduce a product's intangibility by letting the intermediary customer experience the hotel before
hand.

In light of the above statements, choose the most appropriate answer from the options given below

il St werer fRu e 3 ¢

Dol - | : 301 AT Ay 3q Blced, R IR sIfefaf2rRIl T wrIet w0t 3q "Trip advisor' uz QRIRPT GRI &l SR SRl &l YRIPT Bk &
@l - |l : v i1 (Fam trips) 2icet 3 o820l A Uscl Sfie® DI AU Mo3d BT DADR IcUIG D AGE I AUsedl DI DA Dl 3
IR D6l D el d forvorfeiRaa faaeul 3 A A8l 3= o :

[Question ID = 2283][Question Description = S2_qSNz_PG_TMA_Q88]

1. Both Statement | and Statement Il are correct/@ermr | siiz |l Si6il 2t & [Option ID = 9129]

2. Both Statement | and Statement Il are incorrect/emr | 3l || Gl stet & [Option ID = 9130]

3. Statement | is correct but Statement Il is incorrect/aperet | 311 8, fpoq @ere | siera 8 | [Option ID = 9131]
4. Statement | is incorrect but Statement Il is correct/@emel | 3RI=I & , fpog et |l 2@t 8 [Option ID = 9132]

Correct Answer :-
e Both Statement | and Statement Il are correct/werer | 3iiz 11 loii 21 & [Option ID = 9129]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Ethnography provides an insiders' Tour of the customer World, helping marketers get as what consumers really
do rather than what they say they do.



Reason R: Ethnographers can scruitinise how customers think and feel as it relates to their products.

In light of the above statements, choose the most appropriate answer from the options given below

ofld 3l Berel fRu s 3w B siftrperet (A) iR g3 @I aas (R) @al SR 3

sifdreperet (A) : dstfer g Aar, Ygraisii o) sed &I sfiiadt gforn 6l argp waar 3 RPRRI R dre erEt urdr & 6 s JTaga =1 o 3, o
o5 di Sl sed o 8 [ a6 e 3

a® (R) : sufer gaondi (TollvwR) 33 dId I [P3HuT B2 Amdl 3 fob e aRI AT 3R ABYH DI 3, TRIID IR IAD IcUIG DI Adel
alar &

SR> DUl B 3Ircild A forvotifdpa faaeal 3 2 At I= ol ©
[Question ID = 2284][Question Description = S2_qSNz_PG_TMA_Q89]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciali 3@t 8 3z (R), (A) &I 3@t «r=n & [Option ID = 9133]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil & & u3sq (R), (A) &t 3 =m=n ot 8 [Option ID = 9134]
3. Ais correct but R is not correct/(A) 3@t 8 woqg (R) 2@t ot & [Option ID = 9135]

4. A'is not correct but R is correct/(A) 3@ sét 8 weog (R) ;& & [Option ID = 9136]

Correct Answer :-

e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) Slil 3t 2 3z (R), (A) &1 3d waeen 3 [Option ID = 9133]

90) Given below are two statements

Statement I: In discriminant analysis, samples of individuals are assumed to be drawn from several different populations
where different (P) quantitative scores are available for each individual.

Statement II: The 'P' measurements are assumed to follow a multivariate normal distribution with different variance-
covariance matrices with several populations.

In light of the above statements, choose the correct answer from the options given below

ofla <Y aeret feu st 3 ¢

ool - | : ) fessuvr 3 Jaftpd swpell & ar 3 A6 refee fopar sirar 3 5 a6 faftear smanfe=il A fére sme gisl, stef ys cafis @ fere
faftreotr (P) s sics Sucretr siax

@l - || : P rucil @ der 3 a5 3refdrol v Siar 3 b d 3ol AafteRll o 2arer fafdeor YRvI-36 YRl dAfeat @ ATl dgar AW frarur
DI UleTol Bl 3

SWRfT Bl @ 3irclie 3 forerfeiRaa faseul 3 A &l 3= gt ¢
[Question ID = 2285][Question Description = S2_qSNz_PG_TMA_Q90]

1. Both Statement | and Statement Il are true/eret | 3z || gleil 26t & [Option ID = 9137]

2. Both Statement | and Statement Il are false/@peret | 3iiz || Siali srera & [Option ID = 9138]

3. Statement | is true but Statement Il is false/@ewr | 31 & , fdbog et |l srera & | [Option ID = 9139]
4. Statement | is false but Statement Il is true/eperet | 3R @ , fbog @er || 3 & [Option ID = 9140]

Correct Answer :-
e Both Statement | and Statement |l are true/wmemr | i 11 gloil 2@t & [Option ID = 9137]

Topic:- 93Tourism_B

1) Read the given passage and answer the questions that follow from

During Aurangzeb's reign, most members of the imperial family were more devoted to the patronage of literature and religion than to the construction of
grand edifices and gardens. However, several notable tombs and mosques were constructed by the royal family, including the Bibi ka Makbara, or tomb of
the queen, built in Aurangabad. This monumental white tomb, completed in 1660-61, was built for Rabia Daurani, Aurangzeb's wife, also known as Dilrus

Banu, who died in 1657. At Aurangzeb’'s command, their eldest son, Prince Azam Shah built this tomb closely modeled on the Taj Mahal.

Persian inscriptions on the tomb's south entrance gate give the names of the architect, Ata Allah, the supervisor, Aga Abu-al-Qasim Beg and the engineer,
Haspat Rai. Other contemporary documents indicate that the supervisor and others in responsible positions were at the site continuously during this time,
thus resulting in the tomb's completion within four years of the queen's death. The architect, Ata Allah was the son of Ustad Ahmad, architect of the Taj

Mahal and Shahjahanabad Fort. This does much to explain the tomb's close resemblance to the Taj.

Rabia Daurani's tomb is situated in the middle of @ ........ccceveiiiiiniininnnn. typical of most imperial mughal tombs. Approximately half of the size of the Taj
Mahal, this tomb is different in notable ways. At Rabia Daurani's tomb, there is an emphasis on the building's verticality, not the harmonious balance of
proportions as at the Taj. This rapid shift in spatial arrangement occuring shortly after Aurangzeb's accession, triggers innovative directions for eighteenth

and nineteenth century architecture.



ofl<) f3u a1¢ srerior @) ufgy, 3z 3AD arg Re ysil o1 Iaz ARR

PRI @ IRIGIPIA 3 IsT URAR B RIGKR AT DI BTl S AR @ fortivr siiz udeil @ famra & srsm i 3z eef ®f YoRr 3ol UR @1 sIdifd siidenarg 3 didl a1
FADEA AT Aoil BT DR AR 3ID IcAHoIRI ARSIGH 3R ADaR! @1 forivr off BIARN sRM Az HRT AW ADERT eI B Ucofl AferRm Sikieht @ fére 1660-61 @ Siol dorarm
ORI o1 AR Y fEerzar arelt @ oIa A oft SiTol ST o 3iiz 3BT Fog 1657 3 g3 off iR D RBISr UR IoTd AT a3 AT IGHIIST IMSIHA 9M1E of 33 ATGIHET D YRaU A BIbt
fareran et Sorarn o

AP D i3l yaer gr wr Bl # R sifirca @ AR $AD ARGDR DI Sl 31T 3iccll, URIASID DT olIdH DI g 31cT PIFA JoT 3i? SSNfoRI @I ot s3ud I e $A
IR B 3o AADIcHlol GIAAS VAT ADA A 3 AP D forarfor & Siarer 3AD WRIASID eI 3ioeT 3M1cll B2 PORIfUT Fere uR sden Ay wBa & sHifere ot H Fog B ar aral
&1 srafer & sfiar & sroe1 forarivr g1 81 ADT $ADT aRGPR €I 3icell, IIAIS ATHAS DI d<T AT, Sl ArIHEd AR oNEsisidic & Rpcl ©f aRGPR a1 $A deA A AT 91 Dbl Iuse
8l SIcdl 3 e arcpe? @1 Fasu arsied A el f3rerar Setar @il 3

2ufeRM SiRrell w1 ADET @ AL 3 sraf¥ed 3, St #ora1 AdR] D forartvr b fafdrsear 3 At Ascl B PR D MO D RIS Tol $AH ADNR Dl BB el fduav sft
2 ufrn Sivell & A} D frafvr 3 saRa & Ieopar ur fa9y Sik 3, arst Bl ars JAgferd sourd UR ofdl JiFesid @ di3d aIc &l sHRd @ Hudl #eI 3 by 91w gard of arqg
forcu bt 9icht 3 sroRdl 3ii Iooflerdl grarsc 3 orit fEomnsii ® soa &

Fill in the blank space left in the paragraph with the correct word from the options given below-

IR fou s e 3, b Ferer 3 ofid fOu 1w fraseul 3 I A1) ormer a3

[Question ID = 2286][Question Description = S2_qSNz_PG_TMA_Q91]
1. Aurangzeb Bagh/ 33w arer

[Option ID = 9141]

2. Bibi ka Makbara Bagh/dfdfl @1 siepaar amst
[Option ID = 9142]

3. Char Bagh/am amer

[Option ID = 9143]
4. Panj Bagh/ust amet

[Option ID = 9144]

Correct Answer :-
® Aurangzeb Bagh/siiZsreia amst
[Option ID = 9141]

2) Read the given passage and answer the questions that follow from

During Aurangzeb's reign, most members of the imperial family were more devoted to the patronage of literature and religion than to the construction of
grand edifices and gardens. However, several notable tombs and mosques were constructed by the royal family, including the Bibi ka Makbara, or tomb of
the queen, built in Aurangabad. This monumental white tomb, completed in 1660-61, was built for Rabia Daurani, Aurangzeb's wife, also known as Dilrus

Banu, who died in 1657. At Aurangzeb’s command, their eldest son, Prince Azam Shah built this tomb closely modeled on the Taj Mahal.

Persian inscriptions on the tomb's south entrance gate give the names of the architect, Ata Allah, the supervisor, Aga Abu-al-Qasim Beg and the engineer,
Haspat Rai. Other contemporary documents indicate that the supervisor and others in responsible positions were at the site continuously during this time,
thus resulting in the tomb'’s completion within four years of the queen's death. The architect, Ata Allah was the son of Ustad Ahmad, architect of the Taj

Mahal and Shahjahanabad Fort. This does much to explain the tomb's close resemblance to the Taj.

Rabia Daurani's tomb is situated in the middle of @ ........ccceveiiiiiniininnnnn. typical of most imperial mughal tombs. Approximately half of the size of the Taj
Mahal, this tomb is different in notable ways. At Rabia Daurani's tomb, there is an emphasis on the building's verticality, not the harmonious balance of
proportions as at the Taj. This rapid shift in spatial arrangement occuring shortly after Aurangzeb's accession, triggers innovative directions for eighteenth

and nineteenth century architecture.

ofia fou a1g sterior @t ufew, 3z 3TD arc T yssil @1 3a2 SR

SRS @ IMRIGIDICT i ISl URAR @ RICIR AGHAT BT Hellol W sARAI @ forarivr 3iiz Sudeil @ frarT &t srdgn AT iz et DY goRI ol U 61 sIalifds siidenars 3 didl a1
HDERA Al IAoil BT ADBER AfdA 3old IccldoilRT ARSISH 3R FADaR) o1 forafvr st wrarn sRI UG 3T AWT ADBERI RsId 6t ucoflt ufeR el & ferg 1660-61 @ Sl dorarm
SR a1 AR DY A drell @ o3 A ol SiTeln ST e 3iiz 3ADT P 1657 3 g3 off JiioRIa @ fOrS9r UR IoTd AR I3 d2 9IBSIICT IUSIH 9113 of 33 AIHG D YRed A DIl
f3rera Jeren dorar e

ap? D Sf3mll yar gr ur wr 3 R ficka @ GRIR $ID ARGDR BT oI (AT 3[ccll, RIS BT I 3IBT I, 3T BIRTIHA AT iR ORI T oIr 3ud IRT o 5
IR D IR AHADIcHel SIATAS VAT ADA A 3 AP D forarfvr B Shret 3AD WRIASID A2 31631 ITell B2 fOrRIfvr Ferer Uz sdton Higlg ¥ & sAHifere ol B Fog B ar arel
&1 srafds @ sfiaR & sarmr forafor gar 81 ADT $ADT ARGDR [T 3fccll, IIAIS IFBAT DI AT Al, Sl ATSIHE IR MBESIBIAIC B RN DI aRFGER a1 53 a2 A I8 a1 Drbl 3use
3l et 3 5 FAPa BT FaBU arstHsd A Sol fierdar Serar o=l 3



Afern SiRielt @1 ADBET @ e 3 sraf¥erd 3, St Fyorer ADPSR] D forarior Hf fafdreear 3 At #iscT @ PR D M D TR Tol $A ADT DI BB AUl fAdaas oft
3 afern Seroft & #Awa? @ forafor i saa & eopar u= fAdy Sz 3, arsr B avs Agfera iggurd U= ol eI @ g3 a16 & sARA B Sust HeT 3 P 1T acana of arg
foreu &t 9icfl 3 srorRdl iz Sooftrdl 9rarsd) 3 orit fomnail @t Sioar =

From the following, identify the person who was not the member of the team appointed for the construction of the Tomb of Bibi ka Makbara-

forrciferRaa 3 A wlorn s didl & apa? B forrfor & fore orge AIfer o1 AAc=r ordl em?

[Question ID = 2287][Question Description = S2_qSNz_PG_TMA_Q92]
1. Ata Allah/srar sicern

[Option ID = 9145]

2. Aga Abu al Qasim Beg/ 3t 31q 31cT DIRMH Jo1
[Option ID = 9146]

3. Hanspat Rai/z3ua rx

[Option ID = 9147]
4. Bhim Sen/sfiar 3ot

[Option ID = 9148]

Correct Answer :-
® Ata Allah/arar sicen

[Option ID = 9145]

3) Read the given passage and answer the questions that follow from

During Aurangzeb's reign, most members of the imperial family were more devoted to the patronage of literature and religion than to the construction of
grand edifices and gardens. However, several notable tombs and mosques were constructed by the royal family, including the Bibi ka Makbara, or tomb of
the queen, built in Aurangabad. This monumental white tomb, completed in 1660-61, was built for Rabia Daurani, Aurangzeb's wife, also known as Dilrus

Banu, who died in 1657. At Aurangzeb's command, their eldest son, Prince Azam Shah built this tomb closely modeled on the Taj Mahal.

Persian inscriptions on the tomb's south entrance gate give the names of the architect, Ata Allah, the supervisor, Aga Abu-al-Qasim Beg and the engineer,
Haspat Rai. Other contemporary documents indicate that the supervisor and others in responsible positions were at the site continuously during this time,
thus resulting in the tomb's completion within four years of the queen's death. The architect, Ata Allah was the son of Ustad Ahmad, architect of the Taj

Mahal and Shahjahanabad Fort. This does much to explain the tomb's close resemblance to the Taj.

Rabia Daurani's tomb is situated in the middle of @ ........cceveuininveiinininnnnns typical of most imperial mughal tombs. Approximately half of the size of the Taj
Mahal, this tomb is different in notable ways. At Rabia Daurani's tomb, there is an emphasis on the building’s verticality, not the harmonious balance of
proportions as at the Taj. This rapid shift in spatial arrangement occuring shortly after Aurangzeb's accession, triggers innovative directions for eighteenth

and nineteenth century architecture.

ofl<) f3u a1¢ srerior @1 ufgy, 3z 3D arg e yssil o1 Iaz ARRA

oot @ MRAGIIcT 3 ISl UR¥aR d RIGIR AGRIL DI BTl UG ARl D forafur 3iiz Sudeil @ Rt B e A 3iiz ef B YoRI 331 uR @1 s iienarg 3 didt o1
FDEA AT Aoil BT ADE AR I IcAHoiRI ARSIGH 3R ADa! @1 forivr off wrarn sRM AT T AW ADGERT eI 6 Ucoil Aferm Sikicht @ fére 1660-61 @ Silol dorarm
SRIT o1 AR B fEe12t drell @ oiar A ot Siro SIr o iR IADT Feg 1657 3 g3 off iR D RPISr UR Ioid AT a3 AT IGIIIST IMSIHA 9118 of 33 ASIHE D YRaU A DIt
f3rerar et Sotarm oar

apa? D of3mfl gaer gr ur w3 oA ifircka @ SRR $AD ARGDR BT oI IIdT fccll, WRIAGD BT oI 3IBT A, et BIRTA JaT iR SRR T ot 3ua IRT o 53
IR B 3o AHADIcHlol GIATAS VAT ADA A 3 AP D forarfvr & Slarel 3AD WRIASID eI 3io1 3Tcll B2 PRIfUT Fere uR sdon Higg WA & sHifere ot Hl Fog B ar Aral
&1 srafer @ sfiar & saoe1 forafvr g1 81 ADT $ADT aRGPR €I 3icell, IIAIS ATHAS DI dcT AT, Sl ArIHEd AR oNEsisidic d Rpcl ©f aRGPR a1 $A A A AT 9Id Dbl Iuse
8l SIKcdl 3 fip aIpe? T FaBu arsied A Seoll f3rerar Setar @il 3

2feRM SiRrell b1 ADET @ aAeA 3 sraf¥ed 3, St #orer AbaR] D forarivr b fafdrsear 3 At Asel B MMPR D M D RIS Tl 3 AP bl BB el faduav sit
3 afdrn Sroft @ AApe? @ forafur i saRa & eopar ur fady iR 3, ars B ave Adfera sreurd uR o1dl PRI @ q3d a6 & sARA & Jusl HeT 3 Py J1e g of arg
forcu bt 9icht 3 sroRdl 3z IooflerdY grarsct 3 orit fEomnsil a soar f&ar

Identify the Mughal emperor who is known for his contribution to the Indian architecture tourism-

3 HaICI SI69NE Bl fRifosa o3, RBrRY sl arqgfdreu wicet 3 3ot Aeer d fore siel sar

[Question ID = 2288][Question Description = S2_qSNz_PG_TMA_Q93]
1. Babur/ame=R

[Option ID = 9149]



2. Akbar/smwaz

[Option ID = 9150]
3. Shahjahan/omssist

[Option ID = 9151]
4. Aurangzeb/siiZsmia

[Option ID = 9152]

Correct Answer :-
® Babur/«maz

[Option ID = 9149]

4) Read the given passage and answer the questions that follow from

During Aurangzeb's reign, most members of the imperial family were more devoted to the patronage of literature and religion than to the construction of
grand edifices and gardens. However, several notable tombs and mosques were constructed by the royal family, including the Bibi ka Makbara, or tomb of
the queen, built in Aurangabad. This monumental white tomb, completed in 1660-61, was built for Rabia Daurani, Aurangzeb's wife, also known as Dilrus

Banu, who died in 1657. At Aurangzeb's command, their eldest son, Prince Azam Shah built this tomb closely modeled on the Taj Mahal.

Persian inscriptions on the tomb's south entrance gate give the names of the architect, Ata Allah, the supervisor, Aga Abu-al-Qasim Beg and the engineer,
Haspat Rai. Other contemporary documents indicate that the supervisor and others in responsible positions were at the site continuously during this time,
thus resulting in the tomb's completion within four years of the queen's death. The architect, Ata Allah was the son of Ustad Ahmad, architect of the Taj

Mahal and Shahjahanabad Fort. This does much to explain the tomb's close resemblance to the Taj.

Rabia Daurani's tomb is situated in the middle of @ ........ccccevveieininiinnnnn. typical of most imperial mughal tombs. Approximately half of the size of the Taj
Mahal, this tomb is different in notable ways. At Rabia Daurani's tomb, there is an emphasis on the building’s verticality, not the harmonious balance of
proportions as at the Taj. This rapid shift in spatial arrangement occuring shortly after Aurangzeb's accession, triggers innovative directions for eighteenth
and nineteenth century architecture.

ofid feu a1e sterior @t ufgw, 3k 3AD a5 3w Y3l @1 Ia? SR

PRI B IRIGIPI 3 IsT URaR B RIGKR AT DI B3Il S AR @ forrivr siiz Judeil @ e & srsm i 3z et ®f YoRr 3ol Ur @1 aIdifd siikenarg 3 didl a1
JIDEA AT Aoil BT D AR 31D IcAXoIRI ARSIGH 3R ADaR! @1 forivr off BraRN sRI AT T AW ADERT eI B Ucofl Aferm Sikrelt @ fére 1660-61 @ Siol dorarm
SRIT o1 AR Y fEe1e2t drell @ oImat A ot Siro SIr o 3R 3ADT Fog 1657 3 g3 off iR D RBISr UR IoTd AT a3 AT IGSIIGT IS 9M1E of 33 AGIHET D YRaU A BIbt
fareran et Sorarn e

apa? D of3mfl gaer gr ur w3 frd sfircka @ GRIR $AD ARGDR DI ol1d IIdI fccll, WRIAGD DT oI 3IBT A, el BIRTA JaT iR SSAfoRR BT ot s3ud IRT o 5
IR B 3o AADIcHlol GIAAS VAT ADA A 3 AP D forarfvr & Siaror 3AD WRIASID eI 3ioeT 3MTcll B2 PRI Fere uR sdon Ay wBa & sHifere ol Hl Fog B ar aral
&} srafer @ sfiar & seroeT forarivr g1 81 ADT $ADT aRGPR 3T 3icell, IIAIS ITHAS DI dcT AT, Sl ArIHEd AR oNEsisidic d Rbcl ©f aRGPR a1 $A aL A As 91 Dbl It
8l SIcdl 3 b arcpe? @1 Fasu arsied A el f3rerar Setar @il 3

2feRM SiRrell 1 ADET @ AL 3 sraf¥ed 3, Sl Horel AdR] D forarivr & fafdreear 3 At Ascl B PR D M D RIS Tol 3 AP Dl BB el fduav sft
2 ufrn Sivell & A} D rafvr 3 saRa & Ieopar ur fa9y Sk 3, arst Bl are JAgferd Ui UR ofdl JiFersid @ di3d aIc &l sHRA @ Hudl el 3 by 31w gard of arqg
forcu bt ekt 3 sroRdl 3iiz Sooflerdl grarsct 3 orit fEomnsii a soar &

Who among the following is known to have built the Bibi ka Makbara or the tomb of the queen?

il @1 AwasT A1 sl B1 Awarr PoifeRaa i A fpaar gorarm en?

[Question ID = 2289][Question Description = S2_qSNz_PG_TMA_Q94]
1. Shahjahan/snsstet

[Option ID = 9153]
2. Aurangzeb/siiZeRa

[Option ID = 9154]
3. Prince Azam/ 9n@sirer 3iept

[Option ID = 9155]
4. Dara Shukoh/grr forpia

[Option ID = 9156]
Correct Answer :-
® Shahjahan/omssiat

[Option ID = 9153]

5) Read the given passage and answer the questions that follow from



During Aurangzeb's reign, most members of the imperial family were more devoted to the patronage of literature and religion than to the construction of
grand edifices and gardens. However, several notable tombs and mosques were constructed by the royal family, including the Bibi ka Makbara, or tomb of
the queen, built in Aurangabad. This monumental white tomb, completed in 1660-61, was built for Rabia Daurani, Aurangzeb's wife, also known as Dilrus

Banu, who died in 1657. At Aurangzeb's command, their eldest son, Prince Azam Shah built this tomb closely modeled on the Taj Mahal.

Persian inscriptions on the tomb's south entrance gate give the names of the architect, Ata Allah, the supervisor, Aga Abu-al-Qasim Beg and the engineer,
Haspat Rai. Other contemporary documents indicate that the supervisor and others in responsible positions were at the site continuously during this time,
thus resulting in the tomb's completion within four years of the queen's death. The architect, Ata Allah was the son of Ustad Ahmad, architect of the Taj

Mahal and Shahjahanabad Fort. This does much to explain the tomb's close resemblance to the Taj.

Rabia Daurani's tomb is situated in the middle of @ ........cccveviinieiiiinininnns typical of most imperial mughal tombs. Approximately half of the size of the Taj
Mahal, this tomb is different in notable ways. At Rabia Daurani's tomb, there is an emphasis on the building’s verticality, not the harmonious balance of
proportions as at the Taj. This rapid shift in spatial arrangement occuring shortly after Aurangzeb's accession, triggers innovative directions for eighteenth

and nineteenth century architecture.

ofla f3u 31w arerion ol ufeu, 3iiz 3A® a1 u ygoil @1 Ia= SRR

PRI @ IRIGIPI 3 ST URaR B FACKR AT DI BTl S AR @ forrivr siiz udell @ famr 6F srem Wfde sz eef o YoRr 3ot UR @1 aIalifep sikemarg i didl o1
FIDEA AT Aoil BT ADEA AR 3ol IcaoiRI ARSIGH 3 ADaR! @1 forivr off wrarn sRI A6 HeT AW AGERT 3o 6 Uil Afern Sikielt @ fére 1660-61 @ Sirol dorarm
ORI o1 AR B ezt drell @ oiar A ot Siron Siar e 3iiz 3ADT Feg 1657 31 g3 off iR D PISr UR IoId AT a3 AT IGIIIGT IS 9MIE of 33 AIHE D YRaU A DIt
f3rerar et Sorar e

aPR D il gaor gr ur Bl I RRA Ificl B GRIR 3AD ARGDR DI ol1H (Al 3fccll, UHASD DI oIId APT A 31l BIRTIH 3T R SSfoRIR DI ol 33Ud W a1 A
IR B 3o AHADIcHlol GIATAT VAT ADA A 3 AP D forarfvr B Slerel 3ADB WRIASID eI 3io1 3Tcll BAR PRIfUT Ferer Uz sdon g WA & sAHifere okt Hl Fog B ar aral
&l srafes @ sfiar & saoeT forafvr gar 81 ADT $ADT aRGPR €I 3icell, IIAIG THAS DI AT AT, Sl AlIHEd AR onEsisidic d Rbcl ©f aRgdR a1 $A A A AT 91 Dbl Fuse
3l St 3 s e’ @1 FaBu arssd A sdoll frerar Serar o=l 3

AR Soft @1 IBED @ giea A sraf¥era 3, it et ABR] @ foraifor 6 fafdreear 3 arst #aer @ PR oS A D R Tol 3A AD B T Uil frdruad oft
3 afern Siroft @ AAwe? @ frafur i saa & Seopar ur fady Sk 3, arsr B aves Adfera sieurd uR o1dl PRI & q3d d16 & sARA & Huslt HeT 3 Py 91w gcara of arg
forcu ¥ it 3 srordl siiv Sooflerdl oraredt A orft feemaii @) slon Rar

The tomb of the queen, built in Aurangabad, was known as-
A- Rabia Daurani's tomb

B- Dilrus Banu's tomb

C- Bibi ka Makbara

D- Nur Jahan's tomb

Choose the correct answer from the options given below:

3iZemarg A ot RN didl a1 FAbaT fAbel oIl A Sirell Sirar om?
A. afern SiRrell &1 IABET

B. fereat 1oy @1 srepear

C. it @1 AT

D. oz S8t @1 sIen

ofta f3u a1e fraseul 3 A A& 3= got :

[Question ID = 2290][Question Description = S2_qSNz_PG_TMA_Q95]
1. A, BandConly/

@dact A, B 3z C
[Option ID = 9157]
2. A, B and D only/dact A, B 3z D

[Option ID = 9158]
3. B, Cand D only/d@act B, C siiz D

[Option ID = 9159]
4. Aand D only/@dct A 3sik D

[Option ID = 9160]

Correct Answer :-
e A, BandConly/



Dact A, B siiz C
[Option ID = 9157]

Topic:- 93Tourism_C

1) Read the given passage and answer the questions that follow

SAARC nations are a potpourri of diverse religions, races and cultures with rich natural and cultural hiritage but yet to top the full potential of tourism.
Interestingly, South Asia is abode of one third of the World's population. It comprises of one of the most fascinating diverse populations and kaleidoscopic
hues of cultures which have worked as potential economic and geographical resources for several countries all over the world. The percentage share of
SAARC countries in international tourist arrivals clearly reflects that these nations are yet to tap their full potential as preferred international tourist
destinations. For promoting tourism in SAARC countries, UNWTO was led by the secretariat in Colombo in 1980 but the initiative could not do well owing
to lack of appropriate support for tourism and from the tourism sector of each SAARC country.Even the productive outcome is yet to achieve from the
another attempt made by the SAARC- Chamber of Commerce and Industry (SCCI) that began in Nepal with promotional tagline "Magic that is South Asia” to

improve the tourism in these nations.

ofid feu a1e sterior @t ufgw, 3k 3AD a5 3w Yt @1 Ia? SR

AID IS, A5 YIhierd vd Airpiern frria A g fafae eal, genferil siiz Jvafensil o v wgazgpa wefisrn (dicdidl) 3, uved sol sl 3 wRicor bt gul grarar @1 Sisal b
Sirerr 3t 9 ¥ Jraes & b of3vr efdrn @ faea ot v fireré smard forar ol 3 wst waiftres Rrarede syl smarct siiz agll Avaitril @1 asyg 3 Rodia g3 faa @& see
Zoll 3q wae WU A i aiiz siienfera Fnerct & WU 3 et far & sieicdlRr wRicad! & srerrer ot 2fte I A1 Soii oI 33t HPRlicHT As gorldl 3 6 sor st T afiar arer
sierefedier wRiees aieer Totor 3 IToft ST @ Ut SYaoT BIolr st 91T & AT Joif 3 TRfcor DY agrar 35t 3, Dicwal ARrarerRT of adf 1980 3t $71 P2 DY I wor SecL & I D
Fael 3ol U A IBRI UReq YeAD AT 91 B WRicaT i A 30 WRicot 3q AHRIA ASRIAT B 311 F 3 Uscl D 3 ufdvrma sifiet o1dl 8l AD At ad 5 o1 Ae} A wfear B
LR Il 3G AT AFa i Biard s $538 (v Ml A 3rf) TR 6l oRf srowr uset, RBRY Sturer 3 yaerorer orerrsal "sf3or ofdrn sirg 3" @ AT 9% 5 sRI o1, & ADPRICHD
af¥orre sror spsft archt &

SAARC stands for-

SAARC forfdciRaa o 3t a=m 3?7

[Question ID = 2291][Question Description = S2_qSNz_PG_TMA_Q96]

1. The Southern Asia Association for Regional Cooperation/f& 3m3gol vfdrm iRt Biz Sisferet DIifud9er
[Option ID = 9161]

2. The South ASEAN Association for Regional Cooperation/f& am3er dforrer (ASEAN) uiif3rogrer Bi2 Ssiolct dIsifudoret
[Option ID = 9162]

3. The South Asian Association for Regional Cooperation/f& 3¢ ddrior (Asian) viRmaret Biz Jsioet BIsifu9ror

[Option ID = 9163]
4. The Southern ASEAN Association for Regional Cooperation/fe Jm3cof bidrier (ASEAN) wiiiR3meret Biz istelel plaifuernt

[Option ID = 9164]

Correct Answer :-
e The Southern Asia Association for Regional Cooperation/f& m3got widrn vaii¥megrer Wiz Sl BisiiuIorm
[Option ID = 9161]

2) Read the given passage and answer the questions that follow from

SAARC nations are a potpourri of diverse religions, races and cultures with rich natural and cultural hiritage but yet to top the full potential of tourism.
Interestingly, South Asia is abode of one third of the World's population. It comprises of one of the most fascinating diverse populations and kaleidoscopic
hues of cultures which have worked as potential economic and geographical resources for several countries all over the world. The percentage share of
SAARC countries in international tourist arrivals clearly reflects that these nations are yet to tap their full potential as preferred international tourist
destinations. For promoting tourism in SAARC countries, UNWTO was led by the secretariat in Colombo in 1980 but the initiative could not do well owing
to lack of appropriate support for tourism and from the tourism sector of each SAARC country.Even the productive outcome is yet to achieve from the
another attempt made by the SAARC- Chamber of Commerce and Industry (SCCI) that began in Nepal with promotional tagline "Magic that is South Asia" to

improve the tourism in these nations.

ofld f3u a1w arerion ol ufeu, 3iiz 3A® a1 u ygoil @1 Ia= SR

AID A, A YIpfers vd ARRDpiers Rrrra 3 g fafaer e, genferil siiz dvafersii o v Fgapa et (dicdrs) 3, ued sof sl 3 wRicar &1 guf garar T Sisar fpen
Sitort 313t 9 3 Aaw 3 5 cfdror ofdrn & frca &t v fererd sl forary @l 3 wIst affires Rrarode dfsayyl smardl siiz agioh Fxmieril @1 age 3 Reslor @} faa & e
2ol 3q cara® wu A nfe iz silenferes FHaieror & wu 3 et RAr 3 siaicd wical & smerHaT Bt efte A AT ol Bt 33 wPler A6 corldl 3 b sof Wt @Y afixrar ardx
iR wRiew sidea dotol 3q el grararsil a1 gul Sisor ot nsfl 9w & aras ol o wRicel @) agrar <ol 3d, wletsdl ARrarcrI of ad 1980 3 s Iy @I Y vol Secy & il D
JAgl 3PIUH FU A IBRI WRoq YeAD ATD 391 D WRicat 8 A 3z wRicel 3q AFRM AsRIAI D 111d 3 33 Usd D I ufvna s1R1ct oidl & AD AT aw® b soI ey A wRicar D>



HEUR lol 3q ATH AFaR A6 Bt ts $53¢ (v 2t 2t anf) gra bt srft siowr user, FRY sarer 3 gaitorerer Torensal "gf2or ofdrm Sig 3" @ 12l 9 gl RN oI, ® APRIHD
afyorra 3ot srsft ardht &

Match List | with List Il

List | List Il

[Tourist site SAARC Country|
IA. Buddha of Bamyan |l. Afghanistan
B. Paro Takt Sang Il. Bhutan

C. Sigiriya Fortress |III. Sri Lanka

D. Boudha Stupa |IV. Nepal

Choose the correct answer from the options given below:

et -1 ot 2l -1l 3 AR B :

xcht -1 (wRfeas Ferer) Rreht -1l (31raP or)
A, ifirie & g5 |. srwemforsret
B.URI awpier Il. sferor

C. RiBif¥=n 316 |III. offciaot

D. dig wqu V. drarer

offd e ore freul 3 A &) 3a2 gfere :

[Question ID = 2292][Question Description = S2_qSNz_PG_TMA_Q97]
1. A-L,B-II,C-U,D-IV/A-1,B-1II,C-1ll, D-1V
[Option ID = 9165]
2. A-Il,B-1,C-IV,D-1lI/A-1I,B-1,C-1V, D-1l
[Option ID = 9166]
3. A-llL,B-1L,C-1,D-IV/A-1I,B-1,C-1l, D-1IV

[Option ID = 9167]
4. A-IV,B-1Il,C-1,D-1/A-IV,B-1ll,C-1, D-1I

[Option ID = 9168]

Correct Answer :-
e A-I,B-Il,C-Ill,D-IV/A-1,B-1l,C-1ll, D-1IV
[Option ID = 9165]

3) Read the given passage and answer the questions that follow from

SAARC nations are a potpourri of diverse religions, races and cultures with rich natural and cultural hiritage but yet to top the full potential of tourism.
Interestingly, South Asia is abode of one third of the World's population. It comprises of one of the most fascinating diverse populations and kaleidoscopic
hues of cultures which have worked as potential economic and geographical resources for several countries all over the world. The percentage share of
SAARC countries in international tourist arrivals clearly reflects that these nations are yet to tap their full potential as preferred international tourist
destinations. For promoting tourism in SAARC countries, UNWTO was led by the secretariat in Colombo in 1980 but the initiative could not do well owing
to lack of appropriate support for tourism and from the tourism sector of each SAARC country.Even the productive outcome is yet to achieve from the
another attempt made by the SAARC- Chamber of Commerce and Industry (SCCI) that began in Nepal with promotional tagline "Magic that is South Asia" to

improve the tourism in these nations.

ofial fou a1w sterior @t ufew, 3z 3AD arg Ru ysit @1 a2 SR

ATD A, A YIpfered vd Airapfere frria A g fafder eet, genferil siiz Arafesil o ve gazza et (dicard) 3, ueg sof ael # uiear &t gof grarar @ st e
Sirott 313ft 9w 3 Aaw 3 R cfdror ofdrn 3 faca bt v fererd smardh forart @l 3 8t affires Rrarpde dfrsayul srardl siiz agsfl Fvaferil o1 age 3 Reslo @ faa @ e
Solf 3q U wu A fep i sileniferas JArerol @ U 3 AP A 3 sicRicdr wrica! @ smemreTr &Y zfte A a1 Soif &t 3ua selicr s gorldl 3 fp sor st @t adkrar arer
sicarfsdRr wRicas side dotol 3q srueil grararsii a1 guf Sisor asen 3rsft 9w 3 Aras Soif o uricor @Y ggrar ot 3q, wlereal Afrarcrr of ad 1980 3 s #2 @I Y wol Secy & 3l D
et 3ROl U A IORI WReq YRID AT 39T D WRicat &1 A 3R wRicel 3q AARM AsRIAT B 31911 3 33 Usel D 3d U s1l1el o1l 81 AD AT aw® b sof Ay A wRicar
LR <ol 3G ATD JFaz i Biard s $53¢) (v 2t A 3rf) TRt 6t oRf srowr use, RBRY Sturer 3 gaererer orerrsal "sf3or ofdrn siig 3" @ AT 9% b SR &1, & ADPRICHD
af¥orma ey srsft ardht 3

Given below are the pairs of SAARC nations and their currencies. Which of them are correctly matched?



A. Afghanistan - The Afghan Afghani
B. Maldives - The Rupee

C. Bhutan - The Ngultrum

D. Bangladesh -The Dinar

Choose the correct answer from the options given below:

offaX 1135 3ol 3iie 3orehl HT (w3M) D Joat RA T FowarfeiRaa 3 3 A8 Joal a1 <RIt B3I
A. 3MBATfOIFIT - 3MB2TTol 3BT

B. aireréia - R

C. sgcrot - oiloga

D. wiscrger - Sleie

oft f3u a1e fyaseul 3 A A& 3a= gol :

[Question ID = 2293][Question Description = S2_qSNz_PG_TMA_Q98]
1. Aand B only/

et A 3l B
[Option ID = 9169]

2. Aand Conly/@aet A sk C
[Option ID = 9170]

3. Band C only/dact B siiz C
[Option ID = 9171]

4. Cand D only/@aet C siiz D

[Option ID = 9172]

Correct Answer :-
e AandBonly/

@act A 3iiz B
[Option ID = 9169]

4) Read the given passage and answer the questions that follow from

SAARC nations are a potpourri of diverse religions, races and cultures with rich natural and cultural hiritage but yet to top the full potential of tourism.
Interestingly, South Asia is abode of one third of the World's population. It comprises of one of the most fascinating diverse populations and kaleidoscopic
hues of cultures which have worked as potential economic and geographical resources for several countries all over the world. The percentage share of
SAARC countries in international tourist arrivals clearly reflects that these nations are yet to tap their full potential as preferred international tourist
destinations. For promoting tourism in SAARC countries, UNWTO was led by the secretariat in Colombo in 1980 but the initiative could not do well owing
to lack of appropriate support for tourism and from the tourism sector of each SAARC country.Even the productive outcome is yet to achieve from the
another attempt made by the SAARC- Chamber of Commerce and Industry (SCCI) that began in Nepal with promotional tagline "Magic that is South Asia” to

improve the tourism in these nations.

ofl<) f3u 31w srerior @1 ufgy, 3z 3D arg e yssil o1 Iaz ARR

AP A, A YIpferd vd ARRGirn RrRIA A #b fafder epif, genferl iz JAvafesi of ve gara wsfisur (dicurdl) 3, ueqg s iasgl 3
wRicel &I gut graadr I Sl fopar Sirelr anil 9y 3 Aam 3 [ sfdor eldrn 3 fara &I v ferers siardt forart oxdl 3 a8l Aalftio Rraroda
dfasagul srErdh siiz ggell Avmicrll @I ase 8 Sedlel g3 fava @ seid Soll 3d carud U A sufic siie sishicre Jddrerst @ wu 3 Aler &
sierRiedier wRicat @ sterator Y efte 3 aras Joit B 329 MEle s Serfdt & R o1 ) @Y akIar ardY sicrisd Wi sider aoY 3 ol
&131c13il @I Yol clsel @ell 3nfl 9y 3 a5 S9ll 3 WRicsl @I Semar dol 3d, PlcrFdl ARM@ICRI of ad 1980 3 31 HL Bl Y Tol Secy <1 3l o AL
3EIUf U A IORI UReq YeAD AP $91 D WRiceT 81 A 3R wRicel 3q AARIT ASRIAT B HIG 3 33 Uscl D 38 uftvma s1lret odl & A asf
dawm fob o1 sl 3 WRicol @ FER olrel 3q AT AT 3iTB Biard Us 53¢ (A A Al anf) g1 &1 sril srea user, 313 siurer 3 yeilerorcr
Eorcisol "5f3oT ofdrRn Sitg 3" @ ATer 9Re RBAT SRIT oIf, & ADRICHD Uf¥uIa 3ol 3nfl arbt 3

The number of member countries in SAARC is-

AP B AT Sl B Jzoar 3 -

[Question ID = 2294][Question Description = S2_qSNz_PG_TMA_Q99]
1. Six/®s

[Option ID = 9173]



2. Seven/3ma

[Option ID = 9174]
3. Eight/sme

[Option ID = 9175]
4. Nine/sit

[Option ID = 9176]

Correct Answer :-
e Six/ss

[Option ID = 9173]

5) Read the given passage and answer the questions that follow from

SAARC nations are a potpourri of diverse religions, races and cultures with rich natural and cultural hiritage but yet to top the full potential of tourism.
Interestingly, South Asia is abode of one third of the World's population. It comprises of one of the most fascinating diverse populations and kaleidoscopic
hues of cultures which have worked as potential economic and geographical resources for several countries all over the world. The percentage share of
SAARC countries in international tourist arrivals clearly reflects that these nations are yet to tap their full potential as preferred international tourist
destinations. For promoting tourism in SAARC countries, UNWTO was led by the secretariat in Colombo in 1980 but the initiative could not do well owing
to lack of appropriate support for tourism and from the tourism sector of each SAARC country.Even the productive outcome is yet to achieve from the
another attempt made by the SAARC- Chamber of Commerce and Industry (SCCI) that began in Nepal with promotional tagline "Magic that is South Asia" to
improve the tourism in these nations.

ofial fou a1g sterior @t ufew, 3z 3AD arc Ru ysit @1 a2 SR

ATD A, A YIpferd vd Airapiere frria A 4o fafder eet, genferil sfiz Arafesil o ve gazza et (dicard) 3, uveq sof ael # uiear &t gof grarar @ st e
Sirott 313l 9w 3 Aaw 3 5 fdror ofdrn 3 fyca Bt v fererd smardl forart @l 3 8t affire Rrarede dfrsayul srard) siiz agisfl Fvaferil o1 agye 3 Reslo @ faa @ e
Solf 3q U wu A ffep i sileniferas JArerol @ wu 3 APT A 3 sicRicdr wrica! @ smemwrer &Y zfte A a1 Soit &I 3a selicr s gorldl 3 fp sor st o adkrar arer
siarfsdRI wRicas side dotol 3q srueil grararsii a1 guf Sisor asen 3nsft Iw 3 A1 il o uricor @) ggrar ot 3q, wiereal Afrarcrr of ad 1980 3 s #2 @I Y wol Secy & 3l D
el 3ROl /U A IORI WReq YRID ATH 39T B WRicar &1 A 3R wRicel 3q AARE FeRIAr @ 31 3 33 Usl D 3cd U s1l1el o1l 81 AD AT aw® 5 sof Ay A wRicar &
LR <ol 3G ATD JFaR i Biard o5 $53) (v 2t A 3rf) TRt 6t oRf srowr uset, RBRY Sturer 3 gaererer orerrsal "sf3or ofdrRn siig 3" @ AT 9% b SR o1, & ADPRICHD
af¥orra ey srsft ardht 3

The headquarters of SAARC is in-

AT DT IR BT 87

[Question ID = 2295][Question Description = S2_qSNz_PG_TMA_Q100]
1. New Delhi/srft fgeeft

[Option ID = 9177]
2. Kathmandu/ore#is,

[Option ID = 9178]
3. Male/amer

[Option ID = 9179]
4. Colombo/®ciar

[Option ID = 9180]
Correct Answer :-
o New Delhi/orft faccft
[Option ID = 9177]

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of Teachers|Ratio of Male to Female Teachers|
A 13% 1:7




B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ARl 3 fSU o1 3ifds] B smemR uz Yooll & Iar SIS :

forraiferRaa zoft fep=t fraferenert 3 sreret - 3reroT foreril 3 (w-uw) BRI srearues! @1 Yferord deel 3R sreATudd] e sieArfireIaii & sfourd
@l yFgd ol 3 [rafdencrn 3 et sreamam! &I e 1600 3 Arvil 3 R oR) ifos! @ ek R Yool 1-5 b D 3w S &

31eAUD] DI fARIAR dcal :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerr sreemuast B gfereraarn (% )preamuds siiz stenftapiaii bl gferoraar
A
B
c
D
E
F

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

forerr-C 3 sreamuent bt apet e, fawRr-D sz fawRr-A @ afdafera su A sreanftreisii &t ager e 1 gferora & ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arvil 3 fSu o1 3ifds] B smemR uz gosll & Iar S ¢

forgotferiRaa 2ar=uil fdp2il Rreafderern 3 st - a1l f[erll 3 (T-u) DRI reArad] oI YieIord scol 3R 3EATUD] daT eATTUPII O olurd
@l yFgd ol 3 [rafdencrn 3 et sreamam! &I e 1600 3 ArRvil 3 R oR) ifds! @ R R Yool 1-5 ad D3R S ¢

31EAUD] DI fARIAR dcol :

|EIISRI sremaepl I gferoradr (% )siemuas 3R sreanfiapisii & gferoraan
| A 13% 1:7




B 18% 5:3
c 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

fererr-F 3 gt sieamaepl &b s SiiR fareri-A e faerRr-B 3 wafdafera su A sreamuen] 6t Jizen o &4 fepdon siaR 3 ?

[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]
1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

aruft # fSu 51U sifest @ smeR Uz gesll @ 3a= difsme @

forearferRaa rufl fp=1 feraferenert 3 srerer - sremT freril 3 (T-uw) BRiA srearu®! @1 gferord dcel 3R [eATUD] dell ieATfidIsli & 3rourd
@l yFgd ol 3 feeafdencrn 3 @t sreamaml &f e 1600 3 Arvil 3 R oR) sifws! @ R R Yool 1-5 ab D ImR S &

31EATUD] DI fARIAR et :

frerr sreemuast 1 yftreraan (% )sieamu s sieenfRriaii B g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

faeRr-F 3 sreanfirastsii b dizean siik fawRr-C 3 sieamaat bl Jizen @ dka favder siaz 3 ?
[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]



1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu 31U sifps] @ smeR U gesll & 3a= difsme @

forgatferiRaa arRvil b1l feraferenert 3 sremer - 3rcmT eIl 3 (T-uts) DRRA srearum] @1 gferord s 3R [EATUD] dell 3eATUDISH O 3rofurd
@I yIdgd @il 8 faeafiener 3 qe sreamaml o e 1600 & ARl # 621 9RI sifps! @ MR R Yool 1-5 dd D IR S :

31eATUD] DI fARIAR dea :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr areemuasi B gfererdaar (% )siezmuds 3iiz sie=nftrmisii b gferoraan
A
B
C
D
E
F

What is the total number of male teachers in the University?

forafdencrr 3 srearaamt &t et e ot 3 ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
e 696

[Option ID = 14513]



The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 13U o1 sifds] B memR uz Yooll & IR SifSe ¢

forrarferRaa arofl et fraferemert 3 srerer - srerT foreril 3 (U-uw) BRRA srearu®! @1 gfererd deel 3R sreATued] e sieATfirpIsii & sfourd
@l yFgd ol 3 [eafeenern 3 @t sreamaml & e 1600 3 Arvil 3 R oR) sifos! @ R R Yool 1-5 b D3I S &

31EAUD] DI fARIaR dcal :

frerer sreemuast Bt gferoraar (%)sreamuds il sreAftrap1aii dl yferoraar
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

ferer=r-E 3 srenftroptsii i e o yierord ot siofurd faeRr-D 3 sremuent i e o1 oo 3 ?
[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9

[Option ID = 14517]
2.2:9

[Option ID = 14518]
3. 3:7

[Option ID = 14519]
4.5:3

[Option ID = 14520]
Correct Answer :-
e 5:9

[Option ID = 14517]

Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

TP [EATUD HRI UIS D YFIAId0T @ SRIeT Ydfer @ ulkaderoficrdr e oIRIdr oI fap1 3U 3 Silell Siier 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
Thinking curriculum/fider urgeraga [Option ID = 14521]

Instructional variety/siféifere fafeerar [Option ID = 14522]

Comprehension/zmret [Option ID = 14523]

. Procedural knowledge/yfeRmcsras siret [Option ID = 14524]

A wWw N =

Correct Answer :-

e Thinking curriculum/Rider urgerapsr [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?



3R IRDR D 1M FIeRT FRI Aaferad wa.3iL3iLL L. (MOOCs) ygrar @20t 3q ¥az (SWAYAM) 3 @& ®1Ri @I dollol (3sisfoier) o fere
feperor agels 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]
2 Quadrants/2 agefe [Option ID = 14525]
4 Quadrants/4 agefa [Option ID = 14526]
. 6 Quadrants/6 agefe [Option ID = 14527]
8 Quadrants/8 agefm [Option ID = 14528]

A W N -

Correct Answer :-
e 2 Quadrants/2 aqefe [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement Il: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

ofi <1 perer Ru sme 3 :

®el - | : PRI & saven & U 3 4 ad &I 33 D e I fppmefiar Fgfer & el Ted a6t Ferre Uz 3 3

e - |l : Jaorsii @ yfer Afe ge dIcre cRIdR £aT6l 618l Sdl, dl IFYRUT TR DIASIR BIdI 3 iR sfod 3 ol BR sirar 3 &5 Jyaen @t gor:
3cgfea o8t R s Awar iR @1e yuisu A fargy 8t sirar 3

WP Dl @ sMelid 3, ofid fu a1 eyl 3 A I8 IR @1 TRIaT HifSre :

[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

Both Statement | and Statement Il are correct/@emt | 3z Il cloif & & [Option ID = 14529]

Both Statement | and Statement Il are incorrect/aermr | 3iiz |l Giail steta & [Option ID = 14530]

Statement | is correct but Statement Il is incorrect/aerwor | 3@t 8, fbog weret |l sieia & [Option ID = 14531]
Statement | is incorrect but Statement Il is correct/@erwt | s1eia 3, fdboq @erwet |1 3t & [Option ID = 14532]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmemwr | iR 11 Gloll 2@ & [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory
C. Motor skills lll. Explicit Memory

D. Own experiences |[IV. Episodic Memory
Choose the correct answer from the options given below:

It -1 Bt e -1l A gakma Hifde

oxeht - | et -1l

(e P seier Fieieh cieg) (zafér gor)

A. Aot | siafoifda Fgfer
B. srleol Il. orifaféro Fgfer
C. Gofler wioret (e Roc) Ill. Jgoerep Fgfex
D. smcamepya IV. B Tgfr

ofiax fRu o1 el 3 A At I gfom :
[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1lIl, C-1,D - Il [Option ID = 14533]
A-1ll,B-1,C-1l,D - IV [Option ID = 14534]
A-1,B-1l,C-1V, D - Il [Option ID = 14535]
A-11,B -1V, C-1ll, D - | [Option ID = 14536]

AW N =

Correct Answer :-
e A-IV,B-Ill,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation
B. Valuing

C. Comprehension



D. Precision
E. Knowledge

Choose the correct answer from the options given below:
RIGERAIS! 329301 @ I ol 8iq 3 $of 329201 I Afree g Sirar 3 ¢

A. Jcaidet

B. Jca forerizur w2on
C. aa=n

D. aemefar

E. siot
oif<l feu are famedl 3 A A3l = ol ©

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/@aa A, B, C

[Option ID = 14537]
2. B, C and D only/dae B, C, D

[Option ID = 14538]
3. A,Cand Eonly/aaa A, C, E

[Option ID = 14539]
4. C,DandEonly/@aa C, D, E

[Option ID = 14540]

Correct Answer :-
e A, Band Conly/aac A, B, C

[Option ID = 14537]
6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

ofter @ SIIal Sid &3 HHTRAHD i1 difcads zftedIvll A g 3 3 YeoiRr aedl uz earer dfoga wd 3 dl A forsoifeiRaa A o= war siar 3

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/amtars [Option ID = 14541]

2. Ethnomethodology/srsuferfdstrer [Option ID = 14542]

3. Constructionism/zizaeicadar [Option ID = 14543]

4. Positivism/forzrmcaaar [Option ID = 14544]

Correct Answer :-
e Feminism/amlarg [Option ID = 14541]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:

fep21l uf¥acen @ Jder 3 ORI B WRI oNer 3 fiffioel UgleRIl, 3r¢RIeT el FereiiRI 3R SRl RicRIRIl & HRilsiel &I @ad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

1. Triangulation/fggster [Option ID = 14545]

2. Content analysis/ferer 2mmf faecswur [Option ID = 14546]
3. Corpus/@rdar [Option ID = 14547]

4. Mediation/a@=rzear [Option ID = 14548]

Correct Answer :-
e Triangulation/festet [Option ID = 14545]

8) Identify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix
B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns



D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

Bac? feasuur & dog uglt @ fere wedl @ Adiaw &I usars @3 :

A. Je3id ARTA D gRAD DIcid 3 VIl DI ABPIBd formict

B. Jrside @ et &l svren o3

C. ore @1 Arrwd (T) gra o3

D. gR® ®Icid @ AR @ (T) D aoise A Renfra o3

il fou s1e fraseul 9 21 & Ia= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

. A, C, D, B[Option ID = 14549]
. C, B, A, D [Option ID = 14550]

B, A, C, D [Option ID = 14551]
. B, C, A, D [Option ID = 14552]

A W N -

Correct Answer :-
e A, C, D, B[Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il
A . I. Number of individual items are developed into
Arbitrary C e .

a test which is given to a group of respondents
approach
B.
Consensus [Il. Scale is developed on an ad-hoc basis
approach
C. Iltem Ill. Chosen on the basis of their conforming to

/Analysis  |some ranking of items with ascending and
approach [descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . .. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

It -1 Bt e -1l A gakra B
et -1 et -1

A. arefcaas ||, s1cIe1-31cT9T AGT &I IR DI U ure A fashlha s sirar 3
efdcapior Y Sazcransit & s @1 e Sirar 3

B. srdasara
eficaiur

C. 6 fereauvr [ll. RIEL Siik IRl Ritomrl o1ftp Afda @ #1ct &I gultaur
eftemlur Bl SrgIBUAr @ MR UR TRAfora

Il. acef smenr uz tanmer @) frsf¥ra foean sirar &

D. it IV. fereaa 3 onfdrer ol @ fe1g goll 318 HST DI HcAidol DIt D
Neicis fere forvrizranl @1 Uotcr

ofid f&u s1u fapeal 3 A1 Al IR gfem :

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-l,B-1,C-1,D-1IV

[Option ID = 14553]
2. A-1I,B-1IV,C-1,D-1ll

[Option ID = 14554]
3.A-1,B-Il,C-1I,D-IV

[Option ID = 14555]
4. A-IV,B-1,C-1l,D-1I

[Option ID = 14556]



Correct Answer :-
e A-IILB-Il,C-1,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement II: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

il St werel fRu e 3 ¢

werd - | fgamendt Fizsn yorredt o1 smemR 2 3

werel - |l : fgamendt eI, gowicrd Siis @ ATl 8l 3lar 3 Brary sad s forer orbl a1va &
IWRID Bl @ el 3, il f5u sre fRravedl 3 A A8 IR DI wRIet HIfde :

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

Both Statement | and Statement Il are true/erer | 3z |1 Sloil 31 8 [Option ID = 14557]

Both Statement | and Statement Il are false/wewr | 3iiz || i6il sRier & [Option ID = 14558]
Statement | is true but Statement Il is false/@ermr | 31 @, fpoq @eret |l sRir & [Option ID = 14559]
Statement | is false but Statement |l is true/wepl | sRI=I 8 , fbog et |l A= & [Option ID = 14560]

A w N =

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | sl |l Gleil 21 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

TRIdl DI AHIETGI Dol D e v e D sfiar 31ferp A sifere selluan¥e 3ICTe-ygIel 36180T 3 -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

. Vertical communication/3eaferz 3iuur a1 [Option ID = 14561]

. Horizontal communication/giférst 2iguur @1 [Option ID = 14562]
. Risk communication/sif3aer 2ifuur a1 [Option ID = 14563]

. Personal communication/dzfepe 2iuur 1 [Option ID = 14564]

A W N -

Correct Answer :-
e Vertical communication/3eafers 3iuor @1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:

forgatferRaa 31 3 b2l usarer aifire AYyUT Blored & Hu 3 & el 3

A. 3ITHRIG HIHT BT GRIBT

B. smepfdar

C. Blsd® @ olcll BT Yraeiet

D. ¥a=i &t 91 ot

E. Fdi®oRIica® 91t oI YRIBT

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, Band C only/dqet A, B siiz C [Option ID = 14565]
. B, Cand D only/asaet B, C siiz D [Option ID = 14566]
. C, D and E only/aaa C, D siiz E [Option ID = 14567]
. B, Cand E only/@ae B, C siiz E [Option ID = 14568]

A w N =

Correct Answer :-



e A, Band C only/daet A, B sz C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement IlI: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

@erel - | : ADID MIdI, PG MIT BT e BXedl 3

@erol - || : S-aifRies Jidddl @1 3raon ArsH 3ref diar 3

SWRIFP Poll D 3MIclld #, ofld 8w 31w frapedl 3 A A8 Ia= @1 wrI6t HifSte :
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

Both Statement | and Statement Il are true/wserwr | aiiz |l Sioit 2= & [Option ID = 14569]

Both Statement | and Statement Il are false/@ermr | 3iiz |l Siaif sRicer & [Option ID = 14570]
Statement | is true but Statement Il is false/@emol | a1 @ , fboq @eret |l sRI=r & [Option ID = 14571]
Statement | is false but Statement Il is true/memwr | sRicr & , fbog @erer || A= & [Option ID = 14572]

A W N =

Correct Answer :-
e Both Statement | and Statement Il are true/@memr | 3iR 11 Gleii 31 & [Option ID = 14569]

14) ldentify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

SlelydrG AYHuT &t YR B A8l G bl usarea 3 ©

A. 31gg 9jacn

B. dstrerar gjzaen

C. srueru gjacn

D. wwa ¥is et

ofid fou a1 feul 3 A 8t I gl ¢

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

1. A, B, C, D [Option ID = 14573]
2. B, C, D, A [Option ID = 14574]
3. D, C, B, A [Option ID = 14575]
4. C, D, A, B [Option ID = 14576]

)

)

» Uy

Correct Answer :-
e A, B, C, D [Option ID = 14573]

15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics lll. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

Rxeht -1 il

(it Qo) (fororerems)

A. aiffds |. Iiguor Fuof

B. Fuof fasier Il. Jameil @ & JAquor




C. srefgea Ill. Fid>di &I =
D. zidfers IV. sreif A Hdfe@a
oifaY feu sru faasedl 3 A 8 3R gforo :

[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-11,B-1,C- IV, D - Il [Option ID = 14577]
A-1ll,B-1I,C-1,D- IV [Option ID = 14578]
A-1V,B-1ll, C-1I, D - | [Option ID = 14579]
A-1,B-1V, C-1ll, D - Il [Option ID = 14580]

A wWwN =

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5, 3.5 ___

8, 6, 4.5, 3.5 @ 3rgJaye I 3IEICH Blol-AT 3D 3o ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-

e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

X & ura Y o1 a1 3ol 3 3R Z & urd X &I Aar 3ot & A Wsft & urey afl¥afera 3a A 618 Z, Y 3l X & ura qaaer: foedor 3 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

1. 25, 16, 20/25, 16, 20 [Option ID = 14585]
2. 20, 16, 12/20, 16, 12 [Option ID = 14586]
3. 25, 20, 16/25, 20, 16 [Option ID = 14587]
4. 16, 20, 25/16, 20, 25 [Option ID = 14588]

Correct Answer :-
e 25,16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter".

How is the man realted to Kavita?

U B 3 v AP @l 3K gu @fddr of @al, ds 3R aral &l 9¢l o 11 3 33 ARp A Pldar @1 a=r foar 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
Nephew/ sifisit [Option ID = 14589]

Cousin/admr o1$ (pfoter) [Option ID = 14590]

Uncle/arar [Option ID = 14591]

Son/gq [Option ID = 14592]

A W N -

Correct Answer :-
® Nephew/sicfts [Option ID = 14589]

19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement Il: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

ofil &t werer Ru sme 3 :

Pl - | : v frore 3 et Slar a3l & Brore &1 J3, @ Bt IF A 5° 3! a6 oIl

P - |l : afe Bete 3l @ &t gzt v & Rreafer 3 3m9) agon 9 @l 3 A el Jsat 64 Bioie arc uwp, g A Ricieh
SWRITD Dol D 3MIclld #, ofid 8w 31w farasedl 3 3 A8 Ia= @I wrI6t HifSte :

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]



1. Both Statement | and Statement Il are true/@emwt | aiiz || Sleil A 8 [Option ID = 14593]

2. Both Statement | and Statement Il are false/wewt | 3z || el sRicr & [Option ID = 14594]

3. Statement | is true but Statement Il is false/@emwr | 3 &, fdpoq weret || srier @ [Option ID = 14595]
4. Statement | is false but Statement |l is true/emel | sRIcI 8 , fboq @ere |l 3 & [Option ID = 14596]

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | siiz |l Greif 31 & [Option ID = 14593]

20) Consider the following statements:
A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mabile is sold for 14500 at a loss of 20%. The cost price of the mobile is T18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choaose the correct answer from the options given below:

frofeREd sty R fear &1

A. TP SR T G178 46% B e, dH IR T 1 718 10%, 20% 3R 25% el & aRIeR o

B. U TIETSd @ 20% @1 811 U 14500 & H &1 I1d1 5, Alaled &I aNTd o4 182255 &
D.afe g, o g @1 1l g1 28% €

il e e fasen! # 9 wEl IR I

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. Aand B only/d>act A siiz B [Option ID = 14597]

2. Band C only/aac B siiz C [Option ID = 14598]

3. Aand C only/daer A siiz C [Option ID = 14599]

4. Aonly/aqe A [Option ID = 14600]

Correct Answer :-
e A and B only/@aet A 3iiz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

forgaifeiRaa af A Dlol-AT a Y 3 S caftp @ frearal siie uf¥f¥-efern @5 dia Fider o) b 2 3

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]
Argumentum and Baculum (force)/msfiies &s dqgem (o1fep) [Option ID = 14601]

Argumentum ad Hominem (circumstantial)/smejdicar us glfdolr (uRfRefesioa) [Option ID = 14602]
Argumentum ad Ignorantiam (ignorance)/3msjdics Us seoiRfcRIol (3tstoiar) [Option ID = 14603]
Argumentum ad Verecundiam (authority)/smejdicar ssd¥@fEwre (qifemr) [Option ID = 14604]

AW N =

Correct Answer :-
e Argumentum and Baculum (force)/smsfdicar 6s dagetat (9ifep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can
be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true
D. 'No members are voters' is true

Choose the correct answer from the options given below:

a® araeil & fRiell 9ot 3 Al "o FAcra Aqacrar ofl ¥ srIca 8, al fororferRaa 3 2 e @ 1 A8) Are ST AADAT &
A. "t Ig HAqcar &' 3R 3

B. "®@® 3¢ Aqcr 3 AT 8

C. "afl g Aqcian &' Aca

D. "®I¢ AR ACIAI oidl 3" AT 3



offa fou o1 fyeseul 3 21 & 3a= goi ¢
[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

1. A and D only/@aet A iz D [Option ID = 14605]
2. Aand B only/dact A siiz B [Option ID = 14606]
3. Band C only/dsaet B siiz C [Option ID = 14607]
4. Cand D only/d@ae C siiz D [Option ID = 14608]

Correct Answer :-
® A and D only/dae A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

forgstferRaa wiol-A1 G awdaral @ PR 3R PR Bl A8 U I YIdd B 3 ¢
aeft camurd) sirca-fearh Aa 3

sed-ferear f3a o off wiftp enfifes orél dran

sAfere o1¢ st enBies cafes cmurE! odl aar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - |
[Option ID = 14609]
2. AEE -1l
[Option ID = 14610]
3. AEE - 1lI

[Option ID = 14611]
4. AEE - IV

[Option ID = 14612]

Correct Answer :-
e AEE-|
[Option ID = 14609]
24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

Sire sfogal & AsrIar A Ul @ a1 3 SIIPRI Yid @l & sfogl @I iiR¥dca ganfvra o sitar & fordot 31 2 fpAad GRI &

[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]
1. Anumana Pramana/smie gommr gt [Option ID = 14613]

2. $Sabda pramana/eres gygmor grer [Option ID = 14614]

3. Arthapatti Pramana/sterfufer grr [Option ID = 14615]

4. Upamana Pramana/3usiret yaamr g1 [Option ID = 14616]

Correct Answer :-
e Anumana Pramana/ sl gemvr gt [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Sifol @ b1 TaaU Bl 3161 Siiel bl ASRIAT A Y o181 v Sirer 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
. Perception/ggret [Option ID = 14617]

. Inference/smopmet [Option ID = 14618]

Word-testimony/9reg yaiur [Option ID = 14619]

Comparison/3udtet [Option ID = 14620]

AW N =

Correct Answer :-
® Perception/ygiet [Option ID = 14617]



26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI Afredsr @ der # et gferforftre smuifeer Rrrea &t fRroruarsii 3 foreifeRaa onfirer ait 3
A. R g% - QRAIHI 9 BRI D dla AYwuT G sigpefer Sar 3

B. A3l ydtrol - gIeI 3l 38 Yoyl 31k sfips] @ fere sieifees ISl (3= € wdH) b sirdcol SR 1@l AR SarsARA UR 3iibs] &l gor:gufix
q 9SRUT

C. Jarerol FHsreron - uf¥efRr 3arsAl (solye a sn3eyc 3arsA) ol forifeld wen a ufdi Sarsil & fere gRITpT srgpR1ell @1 HsIcTon
D. scvole uga - $eolc U= A4l & RRI Aud ygrel wel

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/@aet A, C iz D [Option ID = 14621]
B, C and D only/a@act B, C siiz D [Option ID = 14622]
A, B and C only/daet A, B aiiz C [Option ID = 14623]
A, B and D only/@aet A, B aiiz D [Option ID = 14624]

A W N -

Correct Answer :-
e A, Cand D only/dact A, C siiz D [Option ID = 14621]

27) Match List | with List Il

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the lll. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -| e -l

(ferarzon) (U Awoildl Ug)
A. Stadic Felrel @ feru cisdsl fermon PRI acs arss |

A4 Uz 1 SIIY -
B.ézﬁzmg@ﬁn@”@dﬁm@”éﬁa}mﬁmmam”-@ﬁﬁx&

(DI IR ol dIcl PRICT

C. $colc WR gRIfdIC Ud Widle Slel el JRISIST BI i a

- . TA.ELuA.TeL
D:Qmmeﬁq&maﬁﬂaﬁmmsm@t V. < ke

Biiz g1? JAIerGil DI YaIA/ S0l D A Folidl 31

il fou s1e fyseul 3 3 A8 IR o ©



[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-Nl,B-1IV,C-1,D-1l

[Option ID = 14625]
2. A-1,B-IV,C-1l,D -1l

[Option ID = 14626]
3. A-IV,B-1II,C-1,D-1l

[Option ID = 14627]
4. A-1I,B-1V,C-1l,D-1

[Option ID = 14628]

Correct Answer :-
e A-IIl,B-IV,C-1,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

TSI BUARIE & Ted qat 3 Polifted R RaskT @ raf¥ea bifse:

A. Sdtd.

B. i3 - 3o

C.s13

offa fou s1u fyeseul 3 2 & 3= goi ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

A WN -

Correct Answer :-
e (C, B, A [Option ID = 14629]

29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement II: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

ofi 3 Dot Ruse 3 :

@erel - | @ v sifaefest Rivear aftdzcar @ forafoqa @ear 3, 3iik AR 3fi YRR AR DI Mol BT &
@l - |l : v sifmfesr Rzcar $edic VaiA Yglol @ &

SWRIFP Poll D 3MIclld #, ofld 8w s1u frapedl 3 A A8l Iaz @1 wrI6t HifSte :

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/eret | 3z |1 Gloll 311 & [Option ID = 14633]

Both Statement | and Statement Il are false/aermr | 3iiz || Staif sRicer & [Option ID = 14634]
Statement | is true but Statement Il is false/@erwer | 311 &, fbog weret |l 3R & [Option ID = 14635]
Statement | is false but Statement Il is true/memr | 3Ric & , fboq et || A= & [Option ID = 14636]

A W N -

Correct Answer :-

e Both Statement | and Statement |l are true/@emwr | 3iR 11 Gleii 31 & [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple
alternatives?

forgotifene 3t 3 Blol IUYTP SHLYIME. (S|fbaet Yok ScewsA) e 3 Sl ag famcul 3 A v DY gotol 3 YRIIeT e sirar 3

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]



Scroll bar/>@je a= [Option ID = 14637]
Push button/ger seat [Option ID = 14638]
Progress bar/q@) ar [Option ID = 14639]
Radio button/3f=it scer [Option ID = 14640]

A W N -

Correct Answer :-
e Scroll bar/z@fet arz [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgstfeiRae 3t A wlot-AT AT U Joroil fafdpuT Yeract @ w1Rvr S8l Blar 3 ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/«arterctt oter [Option ID = 14641]

2. Melanoma/decimeien [Option ID = 14642]

3. Ocular damage/alq eifer [Option ID = 14643]

4. Erythema/caqfepan [Option ID = 14644]

Correct Answer :-
e Bronchitis/arreft ofter [Option ID = 14641]

32) Match List | with List I

List | List Il

Class of water Example/Explanation

pollutants

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

. lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -l oot 3Eh -1l A Fgafera Hifse :

et -1 et -1l
STl YgHl T aot Sc18vT / SRR
A. AoISIoID PRD |. argeidl Sflary gr1 fdafea oo srufdrse

B @ et Il. 3T, crqur, D emqgsil @ AR

srafdrse

?Cl.ﬁ:ﬁsﬁtbsmaﬁ%ﬁﬁthuaim. —— P e —

D. St 3 gerorofier IV. Stet & gererofier omrsee iR wivde dare senfe
IepTeifored RIS bt arfer gy @ 3

offa feu aru fasedl 3 A A8 3R gforu :

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-IV,C-1l,D-1I

[Option ID = 14645]
2. A-1L,B-1I,C-1,D-1V

[Option ID = 14646]
3. A-NLB-1,C-1V,D-Il

[Option ID = 14647]
4. A-IV,B-1I,C-1I,D-I

[Option ID = 14648]
Correct Answer :-
e A-I,B-IV,C-1l,D-1l
[Option ID = 14645]



33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement Il: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

ofi &t werer Ru sme 3 :

Dol - | : afdzra &t spEforn furpar # gl sisdia?ur o ufyvme 3

Dol - || : fRensdiavr # Sfiarvy oI geT @2 olis¢e Pl slisgislol 911 3 ITARM @ &
SWRIP Doll D 3MIclld #, ofld 13w 31w frpedl 3 3 A8 Iaz @I wrI6t HIfSte :
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

Both Statement | and Statement Il are correct/@emr | 3z Il gloif & € [Option ID = 14649]

Both Statement | and Statement Il are incorrect/aemr | 3iiz |l Gieil steta & [Option ID = 14650]

Statement | is correct but Statement Il is incorrect/ et | 3@t 8, fpoq @t |l st & [Option ID = 14651]
Statement | is incorrect but Statement Il is correct/@emwt | stera @ , fbog et |l 3@ 8 [Option ID = 14652]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmemwr | iR |1 Gloll 28 & [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

Teldol Gab $pI$ fpar & a1 surilel 3rufdrse Siel A a=Ir g ol 3 fovar sirar 3:
A. sitfa freifdre a1 ucrelf ol serol i

B. J1ig Sifdbir sme Hlas @ fere

C. de 3ii= 3ff=1 (3ffsr) @t sere A

D. Ste1 @ 3RURM BoRAr Bl seral 3

ofid fou o1 el 3 A A8t STz gt ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

A, B and C only/d@act A, B 3iiz C [Option ID = 14653]
B, C and D only/a@ae B, C siiz D [Option ID = 14654]
A, B and D only/dact A, B 3fiz D [Option ID = 14655]
A, B, C and D/A, B, C siiz D [Option ID = 14656]

A wWw N -

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 14653]

35) Match List | with List

List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;Cl; Il. Halons
C. C2F4Cl; lll. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifSie

Rt -1 oreht -
BilSilor erf¥a ucret e

A. C3HF7 I. HCFC
B. C2FH;3Cl; Il. 3clica
C. CoF4Cl3 lll. HFC
D. CF3Br IV. CFC

oif<l feu are famedl 3 A A8 3R gfore :



[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

A-1,B-1ll,C-1l,D-IV[Option ID = 14657]
A-1I,B-1,C-1V,D- Il [Option ID = 14658]
A-1l,B-1v,C-1ll, D -1I[Option ID = 14659]
A-1V,B-1l,C-1,D-Ill [Option ID = 14660]

A w N =

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

g oI SIel Uz Sod 118 Jzermeil & waiféres e 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/sme [Option ID = 14661]

2. China/der [Option ID = 14662]

3. USA/gmre [Option ID = 14663]

4. Russia/z [Option ID = 14664]

Correct Answer :-
e [ndia/smea [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgaifeiRaa I So1d> 3106l WA BITHAGRIR afded Hifsre

A. BIcher 3RIeT

B. JdscR ARIET

C. Jora origa (Brercz)

D. rsie wision  (tetrer)

E. gs B¥a

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]
C, E, A, B, D [Option ID = 14665]

C, E, B, A, D [Option ID = 14666]
C,E,B

C, B, E

B
A

, D, A [Option ID = 14667]
A, D [Option ID = 14668]

)

A W N -

>

Correct Answer :-
e C, E, A B, D[Option ID = 14665]

38) Which of the following are NOT statutory bodies?
A. NAAC
B. NMC

C. NCERT
D. AICTE
E. NCTE

Choose the correct answer from the options given below:

forgsiferRae 31 3 Plet A Aifaferd foror 3 :
A. NAAC

B. NMC

C. NCERT



D. AICTE

E. NCTE

il fou s1e fraseul 3 3 & Fa= goi ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

1. Aand B only/dact A siiz B [Option ID = 14669]
2. Cand D only/a>aet C siiz D [Option ID = 14670]
3. Aand C only/@aet A siiz C [Option ID = 14671]
4. D and E only/a@aet D siiz E [Option ID = 14672]

Correct Answer :-
e Aand B only/dact A siiz B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

g St 2ft I Ferruen o Foa & e g5 3 ?

A. or 3l Ica fren 3 sigpRien 3R stayddeil ol aerar Jolr

B. farafdemcrit f31gr @ eIl ®I WIoarIal, forerzur siiz Sxasmar

C. Tor 3 Ica fAren as ugda ! dGTeln

D. frafdencril siiz Bicisil B Mogloll @I [T well

E. 3@ qen s IRERI SR Iaa fOren siffemnr el & dia dstayvl odt & wu i Aar Ygrel Bt
il f3u a1 fraseul 9 A W IR BT TRl HIRdIE ©

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

1. A, Cand E only/daet A, C 3iiz E [Option ID = 14673]
2. A, B and C only/d@>ae A, B siiz C [Option ID = 14674]
3. A, B, Cand D only/daer A, B, C 3iiz D [Option ID = 14675]
4. B, D and E only/a@act B, D siiz E [Option ID = 14676]

Correct Answer :-
e A, CandE only/aact A, C iz E [Option ID = 14673]

40) Match List | with List Il

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR [ll. Promotes research in History

C. ICPR  [lll. Promotion of quality in Technical Education
D. ICSSR [IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera dbifie

et -1 et <11

A. AICTE |. Gofetoney # 3olRieiTel DI GGIol

B. ICHR Il. sfererar 3 srogienet o aGlel

C. ICPR Ill. aosofichl forem &bt spurar ! derar Joi
D. ICSSR V. senfore fsimell 3 sielRiene @l delel

oifY feu o1u faasedl 3 A A8 3R gforo ¢
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

1. A-1ll,B-1l,C-1,D - IV [Option ID = 14677]
2. A-1ll,B-1I,C- 1V, D - | [Option ID = 14678]
3. A-11,B-1Il,C-1,D- IV [Option ID = 14679]
4. A-1IV,B -1, C-1Il, D - | [Option ID = 14680]

Correct Answer :-
e A-IIl,B-IlI,C-1,D-IV[Option ID = 14677]



Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 s1Q srerior @1 ue 3iiR ofid f3u s1w yesll S 3az S ¢

ARNTSIP afdpR ud a3 - AREH s@emrn 3 Sit Jregut Sor J fafeer wul 3 siRdaraare snfffe, ARnkee, IsEfle ik Aroihe - Ao
PRI @ fafiiosr usgsil ®I AIfce Dol Bl RV 3 3D Acd D fore el §u; U6 oI, Iol APl Sl 3nfdiep, ARG iR ARGiae wua 3a
afdvapda AEl ur &A1l DIRA D 3 3l AT & Az 96 AP WU A B3l cllvll Bl Jorchl Frerfer A ars? orpIcrol @I BRI B0l ard ¢ iR
€161 DIGA D31 3 BiA D AAST AMRRIT D cidl 3 JRT WU 3gd A6 aLrRVN Uil RIU 3 96d gu WU 3 RISl I &alol gra @2 3 3 53
9rec bl Ieufe, araa 3 Pz dwolidl acard 3R snffe gerizaei @ e 3R - NP JAATS 3 AHIRID Dl D Jceid Fa3U DI
ol3IaeIRUII Jollel B TP YARI DI Yoidfd drdl & 3c1eu1 o fere ufker Ao firavser & v geflsyd aidl Y o1 3epsa 2 61 & Sil
safere A 261 3 aRiifes asi cid JarT Bl AASEIEL, TGl JAYARIT 3R BeANIGHEI AT A WS seal & sifafaffril uril s 38 3 wasaeu okt
el ARG FISE BT IGd 3l 61 3 32 A gl D dia 3 fAafioot u 3 sirol sia 3; 'ofa eNfD slia’, ‘sigaril’, ‘seirdl J3E’, ‘T
siftrra’ affaa A oRil Ao AIFsH & giy D Ade I Ao aldsor 3 WRI a6 Rl 3 AT <1 Hsrayul g Feadrel R & F gaa
TRIT AEMRYN 3 ok 9Nfdret dXar 3 Sl freaduur grRI sidl, 3RIHIeIdl, due scfe @ S 3if2rd USURPId BHA® D dad oldl Yglol = sir
ADAl GIRI 32 31ferp Asvayvl, fo o= 1 sraermrun @I FIdlk uf¥ggRn A faort caaven (Afcer) @ sifefym faraiiya foan st aden ? ar a8
IR DI AW A i1 B aw s A, v Wl Refel PR agizad el &6il 31 A v Wil Refer R agizae el oR’id 8l ? Jute 3
3 orfidll, 3RIHATGIAl, ddel Gl 3R grararsil arcl JHdfera el uR faerI frauur # camud wu A eart G sk &

The concept of social exclusion is multidimensional because of:

ARSI afdspR &I sraemrvn R BRI A dgsmmed 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

1. multiple groups to focus on/fafder 2wl uz dfga [Option ID = 14681]

2. variations in deprivations/ddei @ ¥au 3t fieorar [Option ID = 14682]

3. the prevalent notion about social outsiders/mafSis =u 3 arsdt clsll @ ar 3 yafera sraemzon [Option ID = 14683]
4. social statuses across nations/2iyuf gor 3 s Reifer [Option ID = 14684]

Correct Answer :-
e multiple groups to focus on/fafeer wel e Diga [Option ID = 14681]

2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority



are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 319 sren9r o ug iz ofid 3w a8 yesil & 3a 3 :

ATHISID PR b &g - RGN sraemRon 8 Sl AFgui Sor 3 fafer wul 3 siRaraaret i, APNRIE, AEEiite ik ARG - APIke
ofrIl @ faf¥cor uscysil @I Adfase dol Bl TRV & $AD Acd D fe1g Wl gu; As 9166, Iol APl il i, AP IR Arpiad wu A
qfdtayd APl UR &A1l DIGA DT 8 1R ATA 8l As 9166 ATHISID WU A d1831 clIsll DI Iorhl F-e1fer A q182 formIctol I DRI w2l ard e U
€161 DG Dl 3 B D AT INRGRIT D cidl 3 IR WU 3.gd A AR il RIU 3 96 gu U I RIgTell I &al6l gra @2 @& 3 s
9rec bl 3Ieufer, ar<a i PRI dwollidl gcad 3R nffe gerRizael @ e IR - MENPBRD AT 3 AHIRIP Bl D Joeld Fa3U DI
Yol3IaeRuI Jollel & U JRIRT Dl Yoldfa ol & 3erseur & fere ulkmn amenfores foravsa & v gofleya aXdl gfigzn o1 sigpsa @2 a1 3 Sit
sAfere 31 81 & aRIIfh asl cid IRI DI RASPIRL, TG JAYARIH AR BcANIPRI A A WS seol DI sifcfaf2ril urll s @ 8 werraweu Rt
FHE ATHISID AHPI DT 35 8l W1 3 3R d GIRI D diT i fAfdiosl 34 3 SiIel SIId 3; 'ofd SIENRIp s, 'siyaril’, 'ofsicdlR 39s’, "vda
siffiras’ ufa 3 oril ArnfSie Axzsl © giy @ Ade A Ao afdemr 3 i 96 skl 3 ST 3I Asragul #g Fearet fdar &> T gaa
TRIT AEMRUN 3 oI 9Nfdret AXar 3 Sl fedwuT gRI siéidl, 3RATeIdl, ddel scfe @ SIA 3iferd USURPId BHAD D dad oIl Ygiol b= sir
ADPAl GIRI 3R 3uferp AeTayvl, b o= $21 sr@emrvn @I IR uf¥ggRn A [rert craven (Afeer) o siferfye fraiiya fepwn s aden ? =i a8
IR Bl A A <31 Gt = S ADen, v ¥l Rafer Rrml agizsre et acfl 31 3 v ¥l Refer Rrpl agizsre et silg al ? Fuse U
3 s8I, 3RTHATeIAl, ddel el 3R graAarsii arcl Hdfera Jel uR PRI Rreayur # U Wy A &aret 6 srim @

The new reflection on social exclusion has emerged from

ATHISID SfESDR UR old - Ridfol @8l A Icuool 3T 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

The industrialisation process in Europe/zRu 3 sitelsftasur yfdpen [Option ID = 14685]

The arrival of new scholarship in sociology/mistond 3 ol uifSe1 (IpIerfdm) o1 smewpiel [Option ID = 14686]
The technological impact on societies/ @Gl U2 awofihl ysma [Option ID = 14687]

The changes in the nature of social inclusion/mfSis el @ Fasu 3 dacrra [Option ID = 14688]

A w N =

Correct Answer :-
e The industrialisation process in Europe/3RIu 3 sielsfias2ur yfegan [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 a1u srenor @ ug iz ofla 3w a1w yesll B 3R ¢ -

ARNRE afdvdR od a3 - rRIE sraemvn 3 Sit Ayt Sor  fafaer wul 3 si¥awaaret snféfe, A, IsHpife i Arpie - apnie
ofdril @ fafdtoet uscysil I AAMase Dol DI RV E $AD Acd D 18 WA gU; AT 9Ieg, Iol APl Sil ffd, AMSID 3z AFDias wu A
i3t APl UR €A1l DIGA DT 3 31 AT Fl As 9166 ATHIRID 39U A d1831 clIvll DI Jorchl R-2fer A d182 formIciol I BRI w2l ard dd U
€110l DIGA DA 3 BiA D HATS ARRAI D cixdl A PR 34 Igd IS ARV Uil IR i 96 gu +U d [ISTell I &ar6l yra @2 Wt & 53
9166 I Ieufd, drad I JIR ddoiidl doelid 3R MMM Yoriroll @ Tcidd IR - ENRBID AAIST d AAISID DIl D Seeld FaBU DI
Yol3IaeRuIl Sollol & U YRR dl Yoldia ol 3 3orseur & fere ufkier amenfsie foravsa 6 v wofleya aXdl gfdpzn o1 sigpsia @2 T 3 Sit
sAferg 31 281 3 wilfs dal cid JrRT Gl RASEIE, Gl FYARTH 3R BeANIBH IS A Wi seal &l siftifaffril uril sir @ 2 Baranu oY
eI ARNRIB APLI BT 35d Al W & 3R I Rl @ dfa 3 fafficst U 3 sie S 3; o iEnfre sifla’, 'srgarfl’, 'ofsidl J35E’, v
siffirae’ ufia 3 oril ArNfSie AazAE © giy @ Ada A Ao advmr 3 R 96 srRil 3 ST oI Asvaqul # Jeaaret far & 3 yaa
TRIT AERYN 3 oI 9Nfdret Bler 3 Sl frauur gRI sidl, 3RMHIGIAl, deel scanfe & S 3ifere USURPI BHA® D dad oldl Yglol s s
ADAT GIRI 312 fd FAscayyl, & a=IT 321 raemRun ®I FRIURI ulkygAa A f[ort crazren (ifést) & sifdfsm Rrarfea o= s aden ? o= a6
IR Bl A A <31 bt =E S ADen, v Ul Refer Bridl sgizre el eefl 8l 21 v ¥l Rafer Brmdl agizae el siélq @ ? Fute »u
A sikdl, 3RIATGIAN, ol FBGRI 3R grardrsil ardl JAHdf2a Jei uR famrT frauur 3 *mue »u A Al & sk &



The post-industrial society and economic restructuring have contributed for
IR - JENBID AATS 3R N> YerRize of fepaad feru Aot f&ar 3 ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

The reconsideration of employment issue/3IseIR 38 W Yoifdar [Option ID = 14689]

Strategies aimed at social integration/mufSis wdblm2ur 8q cfér wehierR [Option ID = 14690]
Fragmentation of welfare state/@wcamimil s @1 fdzama [Option ID = 14691]

Social disintegration into new deprived groups/sra dfkra Wwjgl 9 AP fauser [Option ID = 14692]

A w N -

Correct Answer :-
® The reconsideration of employment issue/3spIR 38 w yeifdar [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

&2 a1U srEnor @Y ug iR offa 3w a1e Yesil B IR S ¢

AP Jf3ePR U §g - RIE sraenrvn 3 it egul Sor 3 fafeer wul 3 siRdaraarst snffe, ARIRID, ISl it ARk - Ao
oIl & fafiicel uscysil ol AAMate Dol DI RV E $AD Acd D feI8 WA g; AT 9Isg, Iol APl Sil ffd, ASID iz AFDpiad wu A
SfEtad APl UR &A1l DIGA DIAT 8 3R ATA Fl A6 9166 ATHAIRID WU A d1831 clIsll DI Jorhl R-efer A d182 formIctol I BRI w2l ard e U
€110l DIGA DA 3 BiA D AATST ARAI D ¢l A PR 1Y Igd AS ARV Uil IR i 966 gu w4 d [ASTell DI &ar6l Yra @2 Wl & 53
91ec bl Ieufer, araa 3 FF=I awolidhl dcad 3R nffe gerRizae @ dacd 3R - ENBRD AT 3 ANRIP DIl D Joeld Fasu DI
Yol3IaeRuIl Sollol & U JRIRT Dl Yoidfd ol 3 3erseur & fere ufkier Amenfsres foravsa & v goflsya BXdl gfipzm o1 sigfsia @2 T 3 Sit
gAferg 31 281 3 Wilfs dal cd FIRT Gt RASEIE, Gl FYARTH 317 BeANIBH AT A Y seal & siftifaffri urfl sir 36 2 Bazanu oY
gz ABIMSID Al DI 3gd 8l @1 & 3R d gl @ &k 3 fafdest wu 3 16l sid 3; "ot siiEnfPre si¥le’, 'sigarRil’, ‘ofsidla JA3s’, "vwa
ftrerae’ uf2aEr 3 orRil ATIRID Jd=AT3ll D gig @ Ader 3 ARSI aidvPR 3 BRI 96 SRl 8 IS8T oI AsTayvl g HFcaarel R & 3 g
TRIT ALV 3 SRIT 9Nf3ret SIar 3 Sl feaduuT GRI si8idl, 3RIIeIdl, ddel SIS @ ST 32D URURPIA BHAMm & dad ofdl Yglol fapam i
ADPAl GIRI AR 31fd HAeTayvl, 6 o= $21 sr@ervn @I PRIk uf¥ggRn A [erT craven (After) o siferfy® fraifya e s e ? o= a8
IR Bl aE A <fer Gt G S ADen, v VAl Rrerfer Rrml agizsre oier eofl 3 3 v ¥l Rerfer Rl agizsas et sl al ? Fuse U
3 s8I, 3RTAToIAl, ddel aerl 3R graAarsii arcl JHdfea Jel uR PRI Rreauur # U U A &rel & sri @

The scholarship on social exclusion has gone beyond
AEIfeIe af¥spr uifdca (Faicrid) s3ad W S gbr 3 ©

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]
1. The reach of governments/3r®r! 61 uga [Option ID = 14693]

2. The conventional thinking/uwuer i [Option ID = 14694]

3. The normal issues of deprivation/ddon @ e #8 [Option ID = 14695]

4. Common perspectives of inclusion/zmmerer @ mer uf¥egr [Option ID = 14696]

Correct Answer :-
e The reach of governments/3R®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new



vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

A 31U srener o ug iz ofid 3w a8 yesil & 3a 3 -

ATAISIP af3epR U §g - RIE sraenzun 3 it Aegul Sor 3 fafeer wul 3 sidaraarst snfffe, APIRID, ISl it ARDias - Ao
ofdril @ fafitoet uscysil I AAIMate Dol DI RV E $AD e D feI8 A g; AT 9Isg, Jol APl Sil ffd, AMfSID iz AT@piad wu A
qfdtayd APl UR &A1l DIGA DIAT 8 1R ATA Fl As 9166 ATHISID WU A d1831 clIsll DI Iorhl F-e1fer A q182 formIctol oI BRI w3l ard e U
€161 DIGA Bl 3 B D AT INRGRIT D oAl 3 IR WU 3.gd A6 AR el RIU 3 96d gu WU 3 RIgTell I &al6l gra @2 @& 3 s
91ec bl 3Ieufer, araa I P awolidl gcar 3R nffe gerRizas @ e 3R - MENBRD A 3 AHIRIP Bl D Joekd FasU DI
Yol3IaeRuIl Jollol & U JRIRI bl Yoldfd ol & 3erseur & fere ulkin wmenfors foravsa & v goflsyd aXdl gfipzn o1 sigpsia @2 @I 3 Sit
gAferg 3Y 281 3 Wilfs dal cid FIrRT Gt RASEIS, Gl FYARTT 3R BeAIBH AT A i sear & sifcifaffri urft s @6 2 Gazdanu oY
HNE ATHIRID AHBI BT 35 8l Wl 3 3R d GIRI D dia 9 fAfdiost U 3 Sirel S 3; 'ofd SHENRp s, 'siyardl’, 'ofsircdl 319s’, "o
siffiraes’ ufaa 3 orRil ArnfSie Aazasl & giy @ Ade A Ao afdemr 3 T 96 skl 3 ST oI Asragul #g Fearst fdar & gaa
TRAT ALIRYT 3 GRIT 9Nf3ret BT 3 il feduuT GRI si8idl, 3RIIIeIdl, ddel sfs @ S 3If2[d URURPIA BHAMm B dad ofdl Yglol fapa i
ADAl GIRI 3R 3ufep dAeTayvl, b o= $21 sr@ermrvn @I IR uf¥ggRn A f[rerT craven (Afcer) o siferlye fraifya e s aden ? = a8
IR Bl aE A cfer Gt = S Do, v ¥l Refer Rrml agizsre oier eofl 3 3 v ¥l Refer el agizsae et si¥lq al ? Fuse U
31 sRIdl, 3RTATeIAl, ddel el 3R graarsii arcl Hdfea el uR PRI Rreauur # U WU A &rel 6 sri 8

The concept of social exclusion is now
ARIRID DR B EIDd TR 3 &

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdkr clisti w dfga fawrr (fter) [Option ID = 14697]

2. Anissue of developmental capability/fdmrRicad miet a1 g1 [Option ID = 14698]

3. A commodity for export from the North to the South/3a= 31 sfémr &t aew foriia @ fére azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/dfq® ¥awu arefl, uf2weft sitemet 3 as2 St g [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/Ridl ciell ue @fga fawrr (eflsr) [Option ID = 14697]





